UGC NET 2021 Education Shift 2

Topic:- Education_SH2_SHAAN_NOV21A

1) Which of the following terms best indicates the intent of a qualitative research study?
faafafea @ @ #1997 a57 T TUTHS Y Aeq7q9 B IR 71 3T FLAT8 ?

[Question ID = 509][Question Description = S2_qSNz_PG_EDU_QO01]

1. Explanation/=aTeEaT

[Option ID = 2033]
2. Prediction/qaTATT

[Option ID = 2034]
3. Exploration/ =T

[Option ID = 2035]
4. Estimation/3mFaq

[Option ID = 2036]

Correct Answer :-
e Explanation/=aTEaT

[Option ID = 2033]

2) A variable which potentially influences the outcome of a research study, but cannot be directly observed and
controlled, is known as:

TH AT FT ANTIAT €T & TF e Aeqq= 3 7oy #7 wqrfag F3q1 8, A7 38 979 €78 @7 v foa B agf frarsr
HRATE, T4 T €T A FTAT ATAT 8¢

[Question ID = 510][Question Description = S2_qSNz_PG_EDU_Q02]
1. Attribute variable/TTaT=# 9%

[Option ID = 2037]
2. Confounding variable/dTds =%

[Option ID = 2038]
3. Moderator variable/Tff==ma® =%

[Option ID = 2039]
4. Concomitant variable/®gadT =T

[Option ID = 2040]

Correct Answer :-
e Attribute variable/3oraT== =<

[Option ID = 2037]

3) A teacher gave a test to 50 students of his class and awarded letter grades A, B, C, D and E, to indicate their level of
performance in hierarchical order from best to the poorest. Which of the following combinations of scales of measurement
has been used?

T fes 3 oa=t FeATH 50 FTAT FT 70T AT AT I AT U, o, /Y, ¥ e E AT, A FoF qA@ o= F FANT R HA K IS
weeiq & T FT qafar g wfafaa & @ few afwra aradt @ &1 9907 fRar 3182

[Question ID = 511][Question Description = S2_qSNz_PG_EDU_QO03]
1. Ordinal and Ratio scales/# &= 3T AITT ATIAT

[Option ID = 2041]
2. Nominal and Interval scales/aTf¥a fi% stawrer ATIHT

[Option ID = 2042]
3. Nominal and Ordinal scales/ATHT ¥ FHGHF AT

[Option ID = 2043]
4. Interval and Ratio scales/sIdTe 3% SITTT ATAAT

[Option ID = 2044]

Correct Answer :-

e Ordinal and Ratio scales/FHE= 3T AT ATTHT
[Option ID = 2041]

4) A historian conducts a research study to develop biography of a social reformer and publishes it in the form of a book.
The study conducted by him may be called:



UF STASTAFTT T TATT QATLF F1 a1 faF5 g s * e s ary qeqa7 swarfvrg $3a1 § < 59 geqs & €7/ wHhrfra
FIATE Sd GILT THT T A&TAT HT FgT ST GHAT @

[Question ID = 512][Question Description = S2_qSNz_PG_EDU_Q04]
1. An ethnographic research/T# JoT{arg «er

[Option ID = 2045]
2. A phenomenological study/=edTcH= TeqIT

[Option ID = 2046]
3. Agrounded theory research/T# TTSTT fRrgid omer

[Option ID = 2047]
4. A narrative study /T fErazorensh sreaae

[Option ID = 2048]

Correct Answer :-

® An ethnographic research/T# JTTiagT <mer
[Option ID = 2045]

5) The essential element of distinction between the concepts of ‘pedagogy’ and ‘andragogy’ is:
farar-arer o< W foreT yuret T ATYTIOATAR B AT B AT FT MALTF TTT 72

[Question ID = 513][Question Description = S2_qSNz_PG_EDU_QO05]
1. Methods and approaches used in teaching/freror & wqr  fafert s samvmr

[Option ID = 2049]
2. Role of previous life-experiences in learning/farm & & Sframrqsrat &7 sffer

[Option ID = 2050]
3. Socioeconomic background of learners/sTfeRTaaal =T sfae-aaTo TIE

[Option ID = 2051]
4. Degree of growth and maturation/®gfz siT afaar &1 &%

[Option ID = 2052]
Correct Answer :-
e Methods and approaches used in teaching/fareror % s fafert siv gumre

[Option ID = 2049]

6) Continuous and Comprehensive Internal Evaluation (CCIE) and feedback mechanism are the essential components of:
qqd TG ATIF Ara ¥ Feqi® (CCIE) T afaqf® 7 fra? srasas azs g ?

[Question ID = 514][Question Description = S2_qSNz_PG_EDU_QO06]
1. Summative Evaluation/&Fa=Tcwe qedTsh

[Option ID = 2053]
2. Diagnostic Testing/==Tiwe T<rerT

[Option ID = 2054]
3. Formative Evaluation/T==TcHe eaieha

[Option ID = 2055]
4. Placement Decisions/fftF weamedt fAfar

[Option ID = 2056]

Correct Answer :-

e Summative Evaluation/&FA=TcHF T
[Option ID = 2053]

7) The most important instrument used in the process of competency based evaluation is :
T qr T geaiwT #1 7fhaT §F 74T 998 AgA@Yo ITHIW 8¢

[Question ID = 515][Question Description = S2_qSNz_PG_EDU_QO07]
1. A norm-referenced interpretation of scores/ i #T T HTH-Ha¥q =ATEAT

[Option ID = 2057]
2. A face-to face interview with the examinee/T<1eATdT & |1 ATHA-HTHT HATATEHTT

[Option ID = 2058]
3. A Standardized achievement test/T# HTHega ITf=er T

[Option ID = 2059]
4. A criterion-referenced interpretation of scores/si#i #I ATAvE-THaf¥q =aTEAT

[Option ID = 2060]

Correct Answer :-
e A norm-referenced interpretation of scores/si®i #T TF HTAH-HafHa =TEAT



[Option ID = 2057]

8) If the lowest score in a distribution is increased by a small quantity and the highest one is decreased by the same
quantity such that their relative rankings are not changed, then, in the new distribution, which of the following measures
will not change?

A. Mean

B. Median

C. Mode

D. Variance

E. Quartile Deviation.

Choose the correct answer from the options given below

gfy frdt faqTo & saqw TR T ST T ATAT/ 95 TI7a7 @ AT SFAA ST ST @Y ATAT R FF T ATAT & W& T3 ST q79°88
T At agwrdt g, 97 ¢ o &, frafafaa & & $19 913777 98 Igan?

A. 9187

B. wrfeg=r

C. 9gF

D. wHTI

E. Iqef® faaaa

19 frg g fFweqi & | 987 SO ¢

[Question ID = 516][Question Description = S2_qSNz_PG_EDU_QO08]
1. A, Cand E only/#a<T A, C 3fiT E

[Option ID = 2061]
2. B,DandE only/#a=«T B, D 3fiT E

[Option ID = 2062]
3. A, Cand D only/Fa A, C T D

[Option ID = 2063]
4. A,BandE only./#a A, B 3T E

[Option ID = 2064]

Correct Answer :-
e A, CandE only/#aa A, C 3T E

[Option ID = 2061]

9) A statistical measure based on the entire population is called parameter. Which of the following are the characteristics of
a parameter?

A. It varies from sample to sample.

B. It can be practically computed for a finite population.

C. It has a fixed value for a given population under given conditions.
D. It changes with the size of population

E. It can be estimated by using sampling variance.

Choose the correct answer from the options given below

ol st &t 9T syt g feadta afeara &1 wrww sgrarar g rafafaa /@ @ sia-si @ sy 11 G ward €2
A. 9% u vivast @ ga) wioed & Sraar it g

B. I8 UF UfXfig T &ar & fHg sAragiics €7 & yfiwfod #1191 a1 §

C.3HH IV TE T % qgd UF (AT STaaeaT % fog us fafaa gea g

D. T ATHEIT H AHTL D 1T 93T §

E. SHFT AFAT TLA B {TT0 FT STHIT FIH FTAT ST FHAT &

A9 frg g fFweqi & & 98 SO ¢

[Question ID = 517][Question Description = S2_qSNz_PG_EDU_QO09]
1. B, C and E only/#=< B, C sfi¥ D

[Option ID = 2065]



2. A, Cand D only/#a< A, C 3w D

[Option ID = 2066]
3. B, Cand D only/#a< B, C &iw D

[Option ID = 2067]
4. C,DandEonly./#9«C, D T E

[Option ID = 2068]

Correct Answer :-
e B, CandE only/#Fa« B, C == D

[Option ID = 2065]

10) Which of the following statements are true for reliabilty of a measuring instrument?
A. It is fixed for a given instrument.

B. It is correlation of scores on measuring instrument with themselves.

C. It varies from sample to sample.

D. Its value can vary from -1 to +1.

E. It is affected by size of the sample used for its determination.

Choose the correct answer from the options given below

fawfafaa d @ &7 971 F97 T afeqry sower @1 fraadtaar s faeadi @ ?
A. 7g fag wrg Swhewr # forg fAfeag frarar g

B. T IIHTT ITHTU I FHIT FT ITH AT Ggaa T §

C. 39# u# wioed 9 gur wfassd # Fraar gdrg

D. SHSFTHIT-18 +1 TF HA I qFAT |

E. g 39% fAgiTo & fe w917 frg g wfveel & s & awrfaa grar e

= fyg g faweai & € 98T ST ¢

[Question ID = 518][Question Description = S2_qSNz_PG_EDU_Q10]
1. A, Cand D only/#a« A, C 3T D

[Option ID = 2069]
2. B,CandE only/#a« B, C 3T E

[Option ID = 2070]
3. B, DandE only/#a« B, D 3T E

[Option ID = 2071]
4. C,DandE only/#a= C, D #fi¥ E

[Option ID = 2072]

Correct Answer :-
e A, Cand D only/#a< A, C3fiT D

[Option ID = 2069]

11) Which of the following are the key processes in designing an experimental research study?
A. Manipulation of changes in the outcome variable

B. Random assignment of subjects to experimental and control groups

C. Exercising control over extraneous variables

D. Observation of changes in the treatment variable

E. Random assignment of treatments to groups.

Choose the correct answer from the options given below

TAATAS Mg ALqTT F AfwHeq A fAuforfaa § & sva o ageaqd afwarg ?
A. ofeoma 9T F afcad T # 1 3THT

B. WIS < fa=ror w gl #71 faway w1 argf~gs augaa

C. e e T 9T A=A FIAT



D. SYITTITH T UfCadl &9
E. Tl &1 ITATL HT AT 5+ qagaq
A= fT g faswedi & ] 987 ST A ¢

[Question ID = 519][Question Description = S2_qSNz_PG_EDU_Q11]
1. A, Cand E only/Fa« A, C #fiT E

[Option ID = 2073]
2. B, CandEonly/#a«T B, C 3fi E

[Option ID = 2074]
3. A,DandE only/#aw A, D siT E

[Option ID = 2075]
4. B, D and E only/#=< B, D =¥ E

[Option ID = 2076]
Correct Answer :-
e A, CandEonly/#aa A, C 3T E

[Option ID = 2073]

12) Which of the following statements about adult learners help an instructor while developing his andragogy?
A. Learning process is self-directed and independent.
B. Previous life experiences have limited role in learning process.
C. Desire of self-development to cope with changes in lifestyle and work-environment.
D. What and how to learn is decided by the instructors or other authorities.
E. Motivation to learn is guided by desire to enhance self-esteem, self-confidence and recognition.
Choose the correct answer from the options given below
W afmaFat  aR § fAafafag & @ $17 97 797 UF agaF 71 393 Nz frar are w1 faw5fyg w373 & Agg w@rg ?
A. sifye waww e7-fA3farg sk ead= §
B. Sfyas dqaigsral &t srfermw sy & € fag sgrsr &
C. Shraad sirc wrf-af@a & afcada & fruea & forw swen-farsra Y g=a7
D. FAT AT HF AT@AT §, AT AT =T ATARTILAT GTLT IAHT (A0 T fAAT IATAT §
E. Hrge &1 ATOT ACHATATT, ACHTTHTH ST AT-AAT FT TETT HT ToGT FILT (A AT &
= frg g faweai & € 98T ST ¢

[Question ID = 520][Question Description = S2_qSNz_PG_EDU_Q12]
1. A, Cand E only/#a<T A, C 3fiT E

[Option ID = 2077]
2. A, Band D only/#a A, B 3w D

[Option ID = 2078]
3. B,DandE only/#a« B, D 3fiT E

[Option ID = 2079]
4. B, Cand D only/#a= B, C 3iT D

[Option ID = 2080]
Correct Answer :-
e A, CandEonly/#aa A, C 3T E

[Option ID = 2077]

13) "What is not said may be more meaningful than what is said," is an idea that led to the development of:

"SITAET FETTATE TG FQ T AT QAATH SATAF ATAF gL AFAT ", T TF a=91< § e F<w Faswra gam

[Question ID = 521][Question Description = S2_qSNz_PG_EDU_Q13]
1. Flander's Interaction Analysis of teaching behaviour. /=¥ # fareror =ragre #1 i forar fagmor

[Option ID = 2081]
2. Guilford's Structure of Intellect model of Intelligence. /f=®T # w=r it gz wfaww £ Gv=mr

[Option ID = 2082]
3. Galloway's System of Interaction Analysis of communication. /fefrar & F&moor 1 i T FEraeor 7 soretr

[Option ID = 2083]
4. Piaget's theory of cognitive development. /o=t &T &srmaTenss fasme a1 f&rgia




[Option ID = 2084]

Correct Answer :-
e Flander's Interaction Analysis of teaching behaviour. /%= T foreqor srage 1 sia: foram fgmor

[Option ID = 2081]

14) Before gathering data for his research, an investigator asks himself the following questions. What should be the right
order of asking/answering these questions?

A. How will data be collected?

B. How will the sample of subjects be selected?
C. What information will be collected?

D. Who will be the subjects to give information?

Choose the correct answer from the options given below.

I AT F FAT ST THFT FIF & T8, TF T-av# g2 & uffaa va ggard sTagi $1{FF / TI79 I3 FTHET H9 FAT AT IRWQ
A. =T R TFHT FRIT SITTIAT?

B. frwat 71 afagel $& gAvTSTTAT?

C. T YT THINT HT STt ?

D. §¥AT I a1 FAvg Y7 & g ?

= fyg vy fyFeat # @ gyt IwT giag

[Question ID = 522][Question Description = S2_qSNz_PG_EDU_Q14]
1. B,C,A,D

[Option ID = 2085]
2. A/D,B,C

[Option ID = 2086]
3.C,D,B,A

[Option ID = 2087]
4. D,C,B, A

[Option ID = 2088]

Correct Answer :-
e B,C,A, D

[Option ID = 2085]

15) The steps involved in the pedagogical analysis of syllabus of a teaching subject are listed below:
A. Formulation of instructional objectives and stating them in behavioural terms

B. Selection of teaching method, classroom activities and needed equipment

C. Content analysis of subject matter in terms of units, sub-units, concepts and sub-concepts

D. Choice of appropriate method of evaluation of learning outcomes

Place these steps in a correct order. Choose the correct answer from the options given below:

fereror farww & qrawww # frar arEiy FFwor § arfyrw sea AR ghag €@

A. ATIATHT IR AT FTATAATT {377 =wagtiRa aa & qqrar
B. fareror wgfa, wert &1 wfafafaay sk sraeas Suswcort 1997
C. THTIAT, IT-THTTAT, ATHTIVTIAT ST ST-AFHTTOTSN # aw A Aoy geg w1 AFwor
D. srfrw wfyws & geaisa T aquy e w1 s
TAIATOT FTAETHAA @ A= Yo faweat § § a@r v q .

[Question ID = 523][Question Description = S2_qSNz_PG_EDU_Q15]
1. B,A, D, C

[Option ID = 2089]
2. D,B,C, A

[Option ID = 2092]
3. C,A, B,D



[Option ID = 2090]
4. A, C,B,D

[Option ID = 2091]
Correct Answer :-
e B,AD,C
[Option ID = 2089]

16) Match Lists | with List Il.

List | List Il

IA. Purposeful collection of a student's work sample, seIf-I

assessment statements for assessing his progress in s .

K Triangulation|
learning
B. Process of corroborating data from different .
. Il. Rubric
individuals or sources
C. Detailed reconstruction of a person'’s life stories, .

lll. Portfolio

experiences and achievements

D. A scoring tool that lists the criteria at various levels of|

IV. Vignette
quality for assessing a piece of work e

V. Biography

Choose the correct answer from the options given below.

g - Fr gt -l F gR T v
gt -l gt -l

A. TH GTT & HTH $ Tfaaef HT S eIL0 497, AfaqTq |
SEHT T FT MFHAT FA # (Y F-eATHT FIT

. g

B. fyrwafwaiaraai @ sgr AT aq® s F195d7w |l =f5¥®

C. =f3F & Sraw #1 sy, srgaat Acsvafzaais=v |,

fRrega gafiato rEwRTIraT

D. TH THITT ITHT FT et & fafrsr wa<i qvard & v, frafe

AMFAT ® AT TTAET F1 A9 FATR EENELE )
V. Sfra+t

19 feg g fasweql & € 9grSac AT :

[Question ID = 524][Question Description = S2_qSNz_PG_EDU_Q16]
1. A-1I,B-V,C-1ll,D-1

[Option ID = 2093]
2. A-lllL,B-1,C-V,D-1l

[Option ID = 2094]
3.A-1,B-1l,C-1I,D- IV

[Option ID = 2095]
4. A-V,B-1l,C-1,D-1Il

[Option ID = 2096]
Correct Answer :-
e A-Il,B-V,C-1lll,D-1
[Option ID = 2093]

17) Match List | with List Il

List | List 1l

A. Content |[l. Extent to which the test scores correlate with a
Validity criterion variable after some gap of time

B.

Il. Extent to which a test measures some identified

Concurrent
Y basic psychological trait

Validity




C. Predictivel|lll. Extent to which a test samples the the leaning

Validity material of the curriculum
D. Construct |IV.Degree to which a test-scores correlate with a
Validity presently available criterion

V. Extent to which different measures of the same trait
correlate with one another
Choose the correct answer from the options given below.

g -l FY gt - @ gR T A

Rt -1 TN
1.f3r9 SraT % ot TR TR ATAEE B 9T
A Fryg-qeg FEAFARAT GIATR AT FF ARATATNG F AT TS

et RYATR

B.aaadl I.B5re €T 7% vhdw 7 g ¢ gRard

@] aaT AATA FIFAF T FT ATIAT

C.gEFFIATeR|IL. T dYAT 75 TF 700 qraawmH 7 A1 qTq qrad’t F7
geaqr wiaesef darg

IV.f5 T 197 9% T o090 ® R faadarT Sussy
D.fawfor sy & ary ggarafraa AT

FWT VT & & e Iura uw qER # 9ry agE et g
19 frg oy faseqt & @ gfrsacgfAw:

[Question ID = 525][Question Description = S2_qSNz_PG_EDU_Q17]
1. A-IV,B-1l,C-I,D-1I

[Option ID = 2097]
2. A-1,B-lll,C-1l,D-V

[Option ID = 2098]
3.A-V,B-1,C-lI,D-1I

[Option ID = 2099]
4. A-ULB-1IV,C-1,D-1I

[Option ID = 2100]
Correct Answer :-
® A-IV,B-1l,C-1I,D-1ll
[Option ID = 2097]

18) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : In the case of small samples, use of non-parametric statistical tests is recommended for analysis of research
data.

Reason R : The sampling errors are large in the case of small samples due to which parametric tests do not give
dependable results.

In light of the above statements, choose the correct answer from the options given below.
I A FATRTTTE : TF F1 AfwFAT (A) T FT T3 (R) FZTIAAT R

FfwFaa (A) : oY ot  ArO0 7, arg T F FFTw # 7o A-wratas qarfRadia aham 137977 F39 F1 aegfa #7
STt 8

& (R) : g wivget & araa § vioed gra=dt gfeat scatas §, fras s wrafys vhan woads ok agi 33 §
SYEE FIAT d AT 7wt ey fAweai §  agrsaw gy

[Question ID = 526][Question Description = S2_qSNz_PG_EDU_Q18]
1. Both A and R are ture and R is the correct explanation of A./(A) 3% (R) ZT+1 #&T & ¥ (R), (A) T Tgr =eaT 8

[Option ID = 2101]
2. Both A and R are true, but R is NOT the correct explanation of A./(A) T (R) Z¥T @&l & 7%= (R), (A) #T Tt =T8T 721

[Option ID = 2102]
3. Ais true but R is false./(A) @&t & T3+ (R) el 721 &

[Option ID = 2103]
4. Ais false but R is true./(A) @&l 7&l & T3 (R) T &

[Option ID = 2104]

Correct Answer :-
e Both A and R are ture and R is the correct explanation of A./(A) 3% (R) aT @&l € ¥ (R), (A) #T €T =187 §



[Option ID = 2101]

19) An investigator commits Type Il error in his research when he:

TF A-ATF 9= a7 &/ 2737 || gfe Fxar g qax ag:

[Question ID = 527][Question Description = S2_qSNz_PG_EDU_Q19]
1. Rejects null hypothesis when it is true./aea 21 9% Y STar 97 THETAT FT AEATHT FLAT

[Option ID = 2105]
2. Rejects null hypothesis when it it is false. /3 21 U7 ot ST 97 TRAFTAT T STEATHE FT 34T 2

[Option ID = 2106]
3. Accepts null hypothesis when it is false. /3 g1 97 AT T 977 TREFIAT FT FHHT FT AqAT

[Option ID = 2107]
4. Accepts null hypothesis when it is true. /e g1 72 Y STy 977 TR=HeTAT FT FFHTT F7 74T §

[Option ID = 2108]

Correct Answer :-
e Rejects null hypothesis when it is true./#eT 29 ¥ off ST [ TREHIAT T SEATHIT FYAT §

[Option ID = 2105]

20) In the process of collecting data for a quantitative research the following steps are followed in a certain order. Place them in correct order.
A. Identification of research instruments

B. Administering the research Instrument to sampling units

C. Seeking permission of appropriate authority

D. Selecting a sample by appropriate method

E. Approaching the sampling frame

Choose the correct answer from the options given below:

ATATHT M1 D fATTT T 70 F1 whear & e fafra sa # fafafag soot st araa frarsmard S| adrsad w
A. ST STHIWT HT TZATT

B. wfagsl 3#13AT # fHT A &1 STRIT FT ITATSIT

C. I9g WTfy®1< #1 srgafy qar

D. I fafer grar us wiwes 1997 AT

E. =3+ gi= 71 staf¥rarsT

= g Ty faFeai # @ ggTSATA ¢
[Question ID = 528][Question Description = S2_qSNz_PG_EDU_Q20]
1. A/D,C, E, B

[Option ID = 2109]
2. A E,D,C,B

[Option ID = 2110]
3. C,A B, ED

[Option ID = 2111]
4. D,C,AEB

[Option ID = 2112]
Correct Answer :-
e A/D,CEB

[Option ID = 2109]

21) Which of the following is a mandatory requirement to receive grants from University Grants Commission?
frafemas agae arT /@ aga I 7@ 3 o fFafafas 8 @ s19 91 oF st stagasarg ?

[Question ID = 529][Question Description = S2_qSNz_PG_EDU_Q21]
1. Shall be a Grant-in-aid institution/T= ST YT H&T EROT

[Option ID = 2113]
2. Established by a central or state Government/#% IT T15¥ HZHTL FIT TT0T

[Option ID = 2114]
3. Recognized by an international quality control body like ISO/3TE T& &t ST staveTgra IuraT A== A gy Arerar s 2r

[Option ID = 2115]



4. Accredited by National Assessment and Accreditation Council/ITETT qeaiae ¥ Jeamfaa afiws g sertaa
[Option ID = 2116]

Correct Answer :-

e Shall be a Grant-in-aid institution/T# ST STH e ZHA0

[Option ID = 2113]

22) What is the score needed by an institution of higher education to get an A+ Grade from NAAC?
NAAC & A + T ITH &7 & forg I FRrarT €T gre snaeq® ThITFATR ?

[Question ID = 530][Question Description = S2_qSNz_PG_EDU_Q22]
1. 2.56-3.25

[Option ID = 2117]
2. 3.26-3.50

[Option ID = 2118]
3. 4.00-4.50

[Option ID = 2119]
4. 4.51-5.00

[Option ID = 2120]
Correct Answer :-
e 2.56-3.25

[Option ID = 2117]

23) Which of the theories of leadership explains the crucial relationship between productivity and concerns for employees?
AT FIT A AFTT STATIFAT AT FHATRAT F forw FHarsh & v ggayef daq gqra §7

[Question ID = 531][Question Description = S2_qSNz_PG_EDU_Q23]
1. Managerial Grid/waerfT fire

[Option ID = 2121]
2. Field theory/&avs fargia

[Option ID = 2122]
3. Transformational theory/T=T=avorv# ffrgia

[Option ID = 2123]
4. Transactional theory/H=ragT® frgia

[Option ID = 2124]

Correct Answer :-

e Managerial Grid/vererirT firs
[Option ID = 2121]

24) Which of the following points states the concept of the Japanese Model of “Just in Time Model”?
fawfafag 9 @ frgd "wee T arga Atead” & ATTHT wfaEwT 1 sraarorT afcafarg SdT | ?

[Question ID = 532][Question Description = S2_qSNz_PG_EDU_Q24]
1. Minimize time from within production to supply to customers/ITgat T JeATET & SATI( q H T AT THT FHT HH FIAT

[Option ID = 2125]
2. Minimize time to produce good in limited time/=f&d ToT # a%q IcITaT & @ AT THT FT FH FIAT

[Option ID = 2126]
3. Procure and supply of materials to citizens for consumption/STHRT & forw arTfeant v wreeft 7 sgfd s sroor

[Option ID = 2127]
4. Prompt service delivered by employees in an organization/fft Tra= & =it grT &7 72 ofter Far

[Option ID = 2128]

Correct Answer :-

e Minimize time from within production to supply to customers/ITgahi &1 ITATET & ATIT TF | AT AT THT T FH FLAT
[Option ID = 2125]

25) What is the main disadvantage of Bureaucratic management?
AYFIATET TS GT FT L A FIATR ?

[Question ID = 533][Question Description = S2_qSNz_PG_EDU_Q25]
1. Employees get irritated/FH=TT frg st &

[Option ID = 2129]



2. Productivity gets affected/3earashar TTHT ST &

[Option ID = 2130]
3. It is time taking/=g HH=ETET §

[Option ID = 2131]
4. Leader has a lot of risk/™dT T a5 J&H ZAT &

[Option ID = 2132]

Correct Answer :-

e Employees get irritated /FH=m<T g st &
[Option ID = 2129]

26) Among the types of disabilities in our population, which can be found more in terms of its percentage?

AT ATt § fAwaiay & wwre, 97 s wfoqq & gadf # qfyws qrg v w3 € ?

[Question ID = 534][Question Description = S2_qSNz_PG_EDU_Q26]
1. Mental disability/@T{a f:o<rar

[Option ID = 2133]
2. Locomotor disability/=eTeqs f:9orerar

[Option ID = 2134]
3. Hearing disability/=r=r-Trer

[Option ID = 2135]
4. Visual disability/gfeareT

[Option ID = 2136]

Correct Answer :-

e Mental disability /A& 7 orfar
[Option ID = 2133]

27) How many types of disabilities are listed in the PWD Act 2016?

oY soo ST arfarfraw 2016 & fradt v 1 fawar g=ag § ?

[Question ID = 535][Question Description = S2_qSNz_PG_EDU_Q27]
1. Five/9i=

[Option ID = 2137]
2. Fourteen/=Tag

[Option ID = 2138]

3. Sixteen/® g

[Option ID = 2139]
4. Twenty-one/THE

[Option ID = 2140]
Correct Answer :-
e Five/Ti=

[Option ID = 2137]

28) How are the normal children affected in inclusive education?

quTa ot fAAT & qrAvey ag F9 wAriAT 9 | ?

[Question ID = 536][Question Description = S2_qSNz_PG_EDU_Q28]
1. Proper social and emotional development take place /3T S TR ST WrawTEHS & graT &

[Option ID = 2141]
2. Their cognitive development get hampered/3 & HsHTcHF faraTe & aTeT et &

[Option ID = 2142]
3. Developed negative attiude towards the disabled /&=t & wfa fA=wfaa Tamrcrs =rag™

[Option ID = 2143]
4. Their interest in study affected negatively/3#T s7eaa | wf= FoTTcHs =7 & TA1fad g2

[Option ID = 2144]

Correct Answer :-
e Proper social and emotional development take place/3aT If=rd ATATE i qTaATHF e ZraT &

[Option ID = 2141]

29) Which of the following statements represents the meaning of inclusive education?



faafafeg 9 @ 17 a1 F97 gara o forar & aof w1 afafafaeg sarg ?

[Question ID = 537][Question Description = S2_qSNz_PG_EDU_Q29]
1. A system of education where the disabled children are given special care/farar Y wa yoret srgt Aok agi #r fEery TEarer & 9t &

[Option ID = 2145]
2. A system where the special children are taught by trained professionals/T Soreir stgt f=ere sgt 1 wforfera Tera<t grey framar smar g

[Option ID = 2146]
3. A system where normal children and children with special needs are taught together/T= Tt YoITeft g ATHTT agi ¥ [FT ST&AqT a1 TFT T TF T
TETAT ST §

[Option ID = 2147]
4. A system where normal children are asked to teach the special children/T SoTTelt STgT @THT=T agi &1 (AT g7 T T2 & o7 Hgr srar &

[Option ID = 2148]
Correct Answer :-
e A system of education where the disabled children are given special care/feraT T ws Joreft StgT =9k argt *1 =FaT F@arer &1 STt &

[Option ID = 2145]

30) As a Teacher, which of the following act shall be your prime duty to make education inclusive?

us fres & w7 H, faafafaa & @ Y7 av w14 frar #7 a913 ot 9979 T SOUHT I@ Fd 7 AT ?

[Question ID = 538][Question Description = S2_qSNz_PG_EDU_Q30]
1. Plan lesson effectively/SaTet 2 F 4T3 T Fro=T =TT

[Option ID = 2149]
2. Have positive attitude towards inclusion/SwTarer & ST AT FIEHIT TET

[Option ID = 2150]
3. Identify children with special needs and adapt pedagogy accordingly /3T sTare==hdT aTer agl T TEATAAT ¥ IEHT F ATHTE FAAT ama FT TR FeAT

[Option ID = 2151]
4. Develop competency to teach in inclusive classroom/aaTereft Fem & 7zt 67 eraar e T

[Option ID = 2152]
Correct Answer :-
e Plan lesson effectively/SST=T &3 & 9T & AT a=T4T

[Option ID = 2149]

31) Match List | with List Il by considering the types of disability and its percentage.

List | List Il

Types of disability Percentage of disability in India
IA. Mental disability . 1.0

B. Locomotor disability 11. 0.1

C. Visual disability 1. 0.2

D. Hearing disability IV. 0.6

Choose the correct answer from the options given below:

T -l FY gt -1 F gaRTa A

=t -1 g -1l
EERIESIEIETR 1Y ® wfaaa
A. "ATAfrT faswar 1. 1.0

B. SIAATHF fo:ar<war 1. 0.1

C. gf¥arar . 0.2

D. AIUVY IV. 0.6

A9 frg oy fasweat # @ gt sacgfg:

[Question ID = 539][Question Description = S2_qSNz_PG_EDU_Q31]
1. A-IV,B-1,C-1I,D-1

[Option ID = 2153]
2. A-lILB-IV,C-1,D-1l

[Option ID = 2154]
3. A-1,B-IV,C-1,D-1ll

[Option ID = 2155]
4. A-1ILB-1,C-1V,D-1I

[Option ID = 2156]

Correct Answer :-



® A-IV,B-1I,C-Nl,D-I
[Option ID = 2153]

32) Match List | with List Il by considering the concepts with its founders.

List | List Il
Concepts/theories of management Founder Name

A. Management by objectives (MBO) I. Mac Gregor

B. POSDCORB Il. Edward Deming
C. Theory X & Y Ill. Peter Drucker
D. PDCA IV. Luther Gulick

Choose the correct answer from the options given below:

g -l FY gt -1 F gR T v

=t -1 g -1l
frgia/gasaq F rFgTIOT GEATTH FTATH
A. STITUF T g7 I. &% T

B. 9t & wg T @t W swy Il. Teare Sy
C. X 3T Y &7 frgia Il fTTIFT
D. T ETHT U IV. gax o=

19 frg g fasweat # @ gt sacgfo:

[Question ID = 540][Question Description = S2_qSNz_PG_EDU_Q32]
1. A-I,B-U,C-I,D-1IV

[Option ID = 2157]
2. A-1l,B-1Il,C-1,D-1IV

[Option ID = 2158]
3. A-1L,B-1V,C-1,D-Il

[Option ID = 2159]
4. A-IV,B-1I,C-1,D-1Il

[Option ID = 2160]

Correct Answer :-
e A-I,B-1ll,C-Il,D-1IV

[Option ID = 2157]

33) Which criteria can be followed to judge the effectiveness of inclusive education?
A. ldentification and enrolment of children with special needs in school

B. Participation of CWSN children in teaching-learning process

C. Parents get relieved from their responsibility

D. Development of children as per their potentialities

E. Political interference in school activities

Choose the correct answer from the options given below:

qaTa 9t e & warg &1 fFofr w7 F fog foa aradst sramaa rar T awarg ?
A. TF ¥ fAQw AraeTFATA AR TG FT IGATH AT ATHTHA

B. farggor-srfarsrar withar & CWSN srgt &7 w131 /AT

C. w1aT faaT aaT redarh & & g 91 €

D. IFT %1 AHAT & ALAT ITHT faFwTH

E. ¥ &1 AFAATAT & TSA1a% geaqd v

A= fT g faswedi & ] 987 ST A ¢

[Question ID = 541][Question Description = S2_qSNz_PG_EDU_Q33]
1. A, B and D only/#a« A, B & D

[Option ID = 2161]
2. A, Cand D only/#a< A, C 3w D

[Option ID = 2162]
3. B, CandE only/#a« B, C 3fi E

[Option ID = 2163]
4. D, Cand E only/#a= D, C 3T E



[Option ID = 2164]

Correct Answer :-
e A, BandD only/#a« A, BT D

[Option ID = 2161]

34) What are the basic principles of Total Quality Management (TQM) as a process?
A. Customer satisfaction

B. Total employee involvement

C. Salary to employee

D. Effective Communication

E. Fact-based decision

Choose the correct answer from the options given below

FFQOl UETT VST (T QM ) FTIFA 5 T/ MATIHT RAFTT F+ATE ?
A. TTEE gy

B. ¥ =T &1 wgwATiIaT

C. FHATA FTaqH

D. THTAT AFI T

E. FeataTia favy

A9 frg g faseai & @ 9y S9T A -

[Question ID = 542][Question Description = S2_qSNz_PG_EDU_Q34]
1. A, B, Cand D only/A, B, C 3T D

[Option ID = 2165]
2. A, C,DandEonly/A, C, D3R E

[Option ID = 2166]
3. B,C,Dand Eonly/B, C,D ST E

[Option ID = 2167]
4. A, B,DandE only/A, B, DT E

[Option ID = 2168]

Correct Answer :-

e A, B, CandDonly/A, B, C %D
[Option ID = 2165]

35) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: PWD Act, 2016 is based on the principles of respect for inherent dignity, individual autonomy including the
freedom to make one's own choices, and independence of persons.

Reason R: In India, a child has the right to get admission to any school as per his/her choice.

In light of the above statements, choose the correct answer from the options given below

A3 T wuT e TTE : wF w1 AfvwAT (A) AT @ FT TR (R) FETTATR

afrsad (A) : dt.eseg . safafraw, 2016 sty wfasT g srax 3 g, dafes caragar Rrad BT w1 w9 % 7697
FATH AT TFa AaT, T ATFHAT A1 g Tar aviEer § 9T swarfia g

& (R) : AT R/, TFH 99 FT ST 78T & FTAT FHET o o7 & qa o0 a9 57 AfaFw1e @
ST FAAT & AT § Aot forg fyweai § F agr s

[Question ID = 543][Question Description = S2_qSNz_PG_EDU_Q35]
1. Both A and R are true and R is the correct explanation of A/(A) ¥ (R) a1 @2l £ 3% (R), (A) FT &7 =187 §

[Option ID = 2169]
2. Both A and R are true but R is NOT the correct explanation of A/(A) % (R) Z4T @&t & 7=q (R), (A) F¥ F&T =TAT 7E71 &

[Option ID = 2170]
3. Adis true but R is false/(A) @&l & 77wq (R) #&1 72T &

[Option ID = 2171]



4. Ais false but R is true/(A) T21 921 2 =] (R) Tl &
[Option ID = 2172]
Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3% (R) ZI9T T&T & 3% (R), (A) FT 7T =ameaT 8

[Option ID = 2169]

36) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The main concern of a Manager is to make profit for his/her organization

Reason R:  Leader has to work as per peoples' requirements

In light of the above statements, choose the correct answer from the options given below

A Y waT T TTE @ F F AfSrFAT (A) AT AL FT TR (R) FETIAATE

afirwgT (A) : TagF F1 qEF fHq7 AU GAST I AT ATATE

& (R): ATTRT AT FT MILIFAT D HLAT FTE FLAT AT

SYLE FAAT ® @ 1H A (o1 g faFredi & § 98T ITTHA ¢

[Question ID = 544][Question Description = S2_qSNz_PG_EDU_Q36]
1. Both A and R are true and R is the correct explanation of A/(A) =i (R) Tt @&l & 3T (R), (A) ¥ &I =1=AT

[Option ID = 2173]
2. Both A and R are true but R is NOT the correct explanation of A/(A) ¥ (R) 21 #&l & Teq (R), (A) F¥ &l =ATEAT 71 &

[Option ID = 2174]
3. Ais true but R is false/(A) T2l § 7] (R) Tl 721 &

[Option ID = 2175]
4. Ais false but R is true/(A) &gt &1 § T=q (R) &l &

[Option ID = 2176]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3T (R) ZI=T T&T & 3T (R), (A) FT TLT =7mear 2

[Option ID = 2173]

37) What steps are followed logically to recruit people?
A. Advertisement

B. Job-analysis

C. Interview

D. Orientation/Induction

E. Agreement for work/job

Choose the correct answer from the options given below
M AT AT B f9w T Feont F 1 agaw fFarrar g ?
A. fasTas

B. wrd-fagwr

C. gT&THTT

D. srfdrEltsor / snwre

E. &5 / &Td gq F

19 frg g fFweqi & | 987 SO ¢

[Question ID = 545][Question Description = S2_qSNz_PG_EDU_Q37]
1. A,B,E, D, C

[Option ID = 2177]
2. E,A,D, B, C

[Option ID = 2178]
3. B,ACED

[Option ID = 2179]
4. D,E,A B, C

[Option ID = 2180]
Correct Answer :-
e AB,E,D,C

[Option ID = 2177]



38) Which type of higher education institution in India has the highest percentage of students’' enrolment?

AT & Ta wH1T A1 37 farer dear & grai 3 ami s #7 wfqqq qa@ afys g ?

[Question ID = 546][Question Description = S2_qSNz_PG_EDU_Q38]
1. Government institution/FTT<T HeaT

[Option ID = 2181]
2. Private institution/fHsft sear

[Option ID = 2182]
3. Public-private institution/aTasTi=h-fHsft Heam

[Option ID = 2183]
4. Central government institution/#= TTHTT ¥ FeT

[Option ID = 2184]
Correct Answer :-
e Government institution/®ZTeT TwT

[Option ID = 2181]

39) Match List | with List Il

List | List Il

Concept in Management Meaning of Concept

A. Scalar Principle I. Administrator works only as per given rulebook

B. Human Relation Approach|ll. Freezing, Moving, Unfreezing

C. Bureaucracy 1ll. A manager can control five/six people effectively|
D. Change Model IV. Facility and leisure enhance work

Choose the correct answer from the options given below:

T -1 FT AT -1 F gRTE v

T -l =T -l
TS T B ATGTIOT [ATLTIOT F7T 7

I worra® faa fafga Frawradt & stgame w1 s3ar

®

Il. Rz, wfyar, sRadwor

A. srfysw frgia

B. HTAT ¥~y
SKEIKIE:}

C atrmr gy | UF TEEF AT/ @ Tt HT TATAT @ & fg g
T TRAT §

D. gftada sy Iv. gfeard stz graq 16 1 afvafa #Q §
19 frg oy faswear & @ gy sav AT

[Question ID = 547][Question Description = S2_qSNz_PG_EDU_Q39]
1. A-IV,B-I,C-1lll,D-1

[Option ID = 2185]
2. A-1l,B-1Il,C-1,D-1IV

[Option ID = 2186]
3. A-1L,B-1V,C-1,D-Il

[Option ID = 2187]
4. A-1,B-1I,C-1I,D-1V

[Option ID = 2188]

Correct Answer :-
e A-IV,B-1,C-1lll,D-1l

[Option ID = 2185]

40) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Proximity between people enhances communication
Reason R:  Face to face communication does not ensure effective communication

In light of the above statements, choose the correct answer from the options given below

A Y waT T TTE ¢ uF T AfSrFAT (A) HTEX FT TR (R) FETIAATE



Ffrwas (A) : L & 9 AT AT FHT TTAT &

s (R) : weaeg gEive gATE gewe gt aff awar g

STE<H FAAT ® et / oot forg fwedt 4 @ agr s :

[Question ID = 548][Question Description = S2_qSNz_PG_EDU_Q40]

1. Both A and R are true and R is the correct explanation of A/(A) #iT (R) Tt &1 & 3T (R), (A) F¥ 5l =T

[Option ID = 2189]
2. Both A and R are true but R is NOT the correct explanation of A/(A) ¥ (R) 21 T&l & Teq (R), (A) FT &l 2ATEAT 71 &

[Option ID = 2190]
3. Ais true but R is false/(A) T2 § T=q (R) T&r 7l &

[Option ID = 2191]
4. Ais false but R is true/(A) @& 721 & 7%=] (R) #&T &

[Option ID = 2192]

Correct Answer :-

e Both A and R are true and R is the correct explanation of A/(A) 3% (R) 39T 5&l & =i (R), (A) #T @&t =T8T 8
[Option ID = 2189]

41) Attention, perception, language, thought, memory and learning are part of
AT, FAFGTTOT, §T9T, =7, Tyfy shw srfrare s &

[Question ID = 549][Question Description = S2_qSNz_PG_EDU_Q41]
1. Cognitive processes/HSTHTcHS: THH

[Option ID = 2193]
2. Understanding processes/sTaaTe THH

[Option ID = 2194]
3. Developmental processes/ f&rsmaTeas ToH

[Option ID = 2195]
4. Visualization processes/ATTaZAT THT

[Option ID = 2196]
Correct Answer :-
e Cognitive processes/HsTATHT THT

[Option ID = 2193]

42) Match List | with List Il

List | List Il

Stage Age Group

A. Sensorimotor stage I. Elementary and early adolescence|
B. Pre-operational stage Il. Toddlerhood and early childhood

C. Concrete operational stage [lll. Infancy
D. Formal operational stage |IV. Adolescence and adulthood
Choose the correct answer from the options given below:

g -l FY gt -1 F gRTa v

=t -l =T -1l

TTTAT g

A, g3 ITH sTFEAT . s f3re sive g feen<rasaT

B. 7& 4 fsnarca® sraedr Il. T a7 T A THF FreaTaeaT
C. 7T & FFaTcens sraedt . geraraesT

D. T7ag | rareas qraear ||V, PrenTraedt shT agesTaedr

A9 frg g fasweat & @ gt sacgfg:

[Question ID = 550][Question Description = S2_qSNz_PG_EDU_Q42]
1. A-I,B-1,C-ll,D-1IV

[Option ID = 2197]
2. A-1l,B-1I,C-1V,D -1

[Option ID = 2198]
3. A-ULB-1,C-1,D-IV

[Option ID = 2199]
4. A-IV,B-1,C-1I,D-1Il

[Option ID = 2200]



Correct Answer :-
e A-I,B-Il,C-Ill,D-1IV

[Option ID = 2197]

43) Which among the following statements are correct?

A. Mental health is a part of mental hygiene

B. Mental hygiene prevents an individual from psychosis

C. Mental hygiene promotes neurosis in an individual

D. Mental hygiene helps in treating mental disorders

Choose the correct answer from the options given below:
fafafggd a s a saTagdr g ?

A. qTaf® Taresy qrAfys tasgqr w1 UH fRear g

B. AT fo® Ta=gqar us =< 1 aqifagfy @ aardt &

C. aTAf Trsgqr ATH & 4w (=) *1 agraradt
D. HTATHS TA=gAT ATATHF FAHTA F STATCH FETAAT FIAT 7
= YT g faweai & / 987 ST ¢

[Question ID = 551][Question Description = S2_qSNz_PG_EDU_Q43]
1. A, Band D only/#a< A, B #fiT D

[Option ID = 2201]
2. A, Band C only/#a A, B T C

[Option ID = 2202]
3. B, Cand D only/#=< B, C #iw D

[Option ID = 2203]
4. C,DandAonly/Fa« C, D 3T A

[Option ID = 2204]

Correct Answer :-

e A, Band D only/#a A, B 3T D
[Option ID = 2201]

44) Among the following which intelligences are associated with Howard Gardner's theory of multiple intelligences?
A. Linguistic intelligence

B. Musical intelligence

C. Spatial intelligence

D. Social intelligence

Choose the correct answer from the options given below:

frefafaa @ @ si7-a1 gfg grad mda s sgafa @ Rgiad gH

A. wteTE gfg

B. gifiaTea® qfx

C. =arias gfy

D. mraTivr® g

A9 frg g faweqi & & 98 SO ¢

[Question ID = 552][Question Description = S2_qSNz_PG_EDU_Q44]
1. A, Band D only/#a< A, B #fiw D

[Option ID = 2205]
2. A, Band C only/#a A, B T C

[Option ID = 2206]
3. B, Cand D only/#=< B, C #iw D

[Option ID = 2207]
4. A, Cand D only/#a« A, C 3T D

[Option ID = 2208]

Correct Answer :-
e A, BandD only/#a< A, B 3T D



[Option ID = 2205]

45) The term emotional intelligence was created by

swTaaTen® Lfg a3 w1 fAafo feasd gra fraraarar?

[Question ID = 553][Question Description = S2_qSNz_PG_EDU_Q45]
1. Howard Gardener/gTaE TTEA<

[Option ID = 2209]
2. Daniel Goleman /gt Teré=

[Option ID = 2210]
3. Robert Strenberg/iae F&aavt

[Option ID = 2211]
4. Peter Salavoy and John Mayer/fie ATara 7 ¥ ST H9¢

[Option ID = 2212]
Correct Answer :-
e Howard Gardener/gTa< ITe-¥
[Option ID = 2209]

46) Among the following which activities are a part of the metacognitive strategy?
A. Writing a reflective journal

B. Self-praising

C. Self-questioning

D. Awareness of self-learning style

Choose the correct answer from the options given below:

fafafea /@ @ sY7-87 afvfafat aftrdarares st 1 ow fgear g ?

A famef s aEe

B. ST<H-gTHT

C. SMTH-J=JT

D. srcH-AfywH &t & IR A FTUERAT
Fr= frg g fawedi & | 987 S ¢

[Question ID = 554][Question Description = S2_qSNz_PG_EDU_Q46]
1. A, B and D only/#a« A, B #iZ D

[Option ID = 2213]
2. B, Cand D only/#a« B, C 3T D

[Option ID = 2214]
3. A, CandDonly/#a A, C #iw D

[Option ID = 2215]
4. A, Band Conly/#ae A, B3fiw C

[Option ID = 2216]
Correct Answer :-
e A, Band D only/#a A, B 3T D

[Option ID = 2213]

47) Experiential learning theories that situate experience at the core of the learning process are based on :
FIYTT IFHA B [T A ALAT 77 foq7 7 a9 WrA1007 arfearn fgia srafra g .

[Question ID = 555][Question Description = S2_qSNz_PG_EDU_Q47]
1. Constructivist theories of learning/s(famT FT T=eTHF ffrgia

[Option ID = 2217]
2. Social theories of learning/wfa T T aTATRE: gt

[Option ID = 2218]
3. Cognitive theories of learning/s1fanme T Fsr=Tea= frgia

[Option ID = 2219]
4. Both social and constructivist theories of learning/ =R & wraTor frgia i =T frgia a=t

[Option ID = 2220]



Correct Answer :-
e Constructivist theories of learning/3ferTT &1 T==THF Rrgia

[Option ID = 2217]

48) The process of helping individuals discover and develop their educational, vocational, and psychological potentialities
and thereby to achieve an optimal level of personal happiness and social usefulness is named as

FiwAT w1 3THT A0, STTIATIYF shT ATrdATIAS AT *7 Frow A< = fyg 37 9 737 FW 717 afevw7 o ™yow
FIFTT THFTT T ATATITF STTAAT FTUF TTTH TG ATH FFIATATAFATE FTEATE ¢

[Question ID = 556][Question Description = S2_qSNz_PG_EDU_Q48]
1. Guidance/dTTasia

[Option ID = 2221]
2. Counselling/w=reet

[Option ID = 2222]
3. Counselling and guidance/TZmH9l 3T ATt

[Option ID = 2223]
4. Career counselling/arstIfashT TeT8el

[Option ID = 2224]
Correct Answer :-
e Guidance/AmigerT

[Option ID = 2221]

49) Any counselling theory or practice that incorporates and combines doctrines, findings, and techniques selected from
diverse theoretical systems is termed as

fafirer @i worrferat @ 3 o fargtal, fasast i< awdiai 77 afEafag 5@ sicdnfg s ama Gt 9 ot frgia
T AFITH KT HET SATAT &2

[Question ID = 557][Question Description = S2_qSNz_PG_EDU_Q49]
1. Non-directive counselling/-fAzerrena Treet

[Option ID = 2225]
2. Directive counselling/fA=erems qemast

[Option ID = 2226]
3. Eclectic counselling/ e =Te: IT=TER

[Option ID = 2227]
4. Vocational counselling/zaTar#TTa TRTHIAT

[Option ID = 2228]
Correct Answer :-
e Non-directive counselling/7-fAgermen aermst

[Option ID = 2225]

50) Match List | with List Il

List | List Il

Theory Characteristic

A. Psychodynamic|l. is used to identify irrational beliefs and
theory of negative thought patterns that may lead to
counselling emotional or behavioral issues.

B. Behaviouristic . o . .
Il. explains personality in terms of unconscious

theory of .

. psychological processes
counselling
C. Rational lll. focuses on improving present relationships
emotive theory ofland circumstances, while avoiding discussion of
counselling past events.

D. Reality theory |[IV. is used for those with behavioural problems
of counselling or mental health conditions

Choose the correct answer from the options given below:

At -1 FT gAY - @ gARfE AN



gt -l =T -l
frgia fraward
A. gITHeT
T

CEIEIRER
frgia

|. SEHT ST ATTIHT ATATTN AT TRTITCHS 91T
ITAET #1 g1 HI & g FFITI7am 8 Siv
STTIATHS JT ATAGTICH L& HT ST-H & ARAT §

B. qerasts

l:r Il. STfRAeT FT AIT HATS ATIAF THH H €T H ATEIT
FEIATET HIAT R

fraia

C. TN | ot sttt shx ARcRafrat 71 of weardt &

T €T
s Rraia faae § 9979 gL AT FA T Hf~aa Far g

D. qTHST .
IV. TG FT GAEITA AT ATAIAF TITEST TAT H ATH

g;?ém @ I & g ST AT sraT |

19 frg g faswear & @ ggrsav AT

[Question ID = 558][Question Description = S2_qSNz_PG_EDU_Q50]
1. A-,B-Il,C-1I,D-1IV

[Option ID = 2229]
2. A-1,B-1I,C-1V,D-I

[Option ID = 2230]
3. A-1L,B-1V,C-1,D-1l

[Option ID = 2231]
4. A-U1I,B-1V,C-1l,D-1

[Option ID = 2232]
Correct Answer :-
e A-I,B-Il,C-Ill,D-1IV
[Option ID = 2229]

51) Given below are two statements
Statement I: The curriculum principles should reflect the school’s values, context, pedagogy and needs.

Statement Il: Schools need to identify the resources required to bring their curriculum to life and ensure its coherence. A
good curriculum needs good quality resources.

In light of the above statements, choose the most appropriate answer from the options given below

A Y waT T TTE ¢ F F AfSrFwAT (A) FHT AL FT TR (R) FETIAATE

afrwad (A) : Tt frgidt #1 faaras 3 goai, ofdre, fraw Ay i sraeasars 1 wfafafag swramfye

% (R) : Fut =T F1 Saq 417 AT T gEafy gfvfag s73 @ o Rt #1 a0 dargat #1 gg=ar s
1.

STEE FAAT ® et / fowi forg fweat 4 @ agr s :

[Question ID = 559][Question Description = S2_qSNz_PG_EDU_Q51]
1. Both Statement | and Statement Il are correct/(A) =i¥ (R) ST @& g 3T (R), (A) ¥ 7 =1eaT

[Option ID = 2233]
2. Both Statement | and Statement Il are incorrect/(A) 3% (R) 1 Hal & 79+ (R), (A) FT &1 ==TEAT 1 &

[Option ID = 2234]
3. Statement | is correct but Statement Il is incorrect/(A) #eT & 9%+ (R) H&l =1 &

[Option ID = 2235]
4. Statement | is incorrect but Statement Il is correct/(A) f&T &l € T=q (R) T8I &

[Option ID = 2236]

Correct Answer :-

e Both Statement | and Statement Il are correct/(A) 3% (R) 3191 @&l & 3% (R), (A) &t T&t =T8T 8
[Option ID = 2233]

52) The National Curriculum Framework 2005 begins with a quotation from an essay titled ‘Civilisation and Progress’. This
essay was written by

T araa=af BTas 2005 FAfAars o te e s fAadsg @ T TT TF SESTT R T A€ ST 8. s fAda ® % -



[Question ID = 560][Question Description = S2_qSNz_PG_EDU_Q52]
1. Mahatma Gandhi/®greT et

[Option ID = 2237]
2. Gijubhai Badheka/fRis(aTs areram

[Option ID = 2238]
3. Rabindranath Tagore/ a1 2T¢

[Option ID = 2239]
4. Gopal Krishna Gokhale/3TraTer #our e

[Option ID = 2240]

Correct Answer :-
e Mahatma Gandhi/®gTeAT ieft

[Option ID = 2237]

53) The following are some steps for curriculum development. Arrange them in a sequential order
A. Produce curriculum product

B. Implement curriculum

C. Test and revise Curriculum

D. Design evaluation strategies

E. Form curriculum development team

Choose the correct answer from the options given below

area=at faawrg & Aufoias gt #1 saae gaaftyag w3

A. grs=at afumy gTE AT

B. UTI=Al AT HTAT

C. uTeI=at Idr&r ST | T

D. FEATHT FTAATIAT FT sf¥rFeq AT FIAT
E. aTe=at fasTq g wfsq 771

A= fYT g faswedi & ] 987 ST ¢

[Question ID = 561][Question Description = S2_qSNz_PG_EDU_Q53]
1. A,B,C, D, E

[Option ID = 2241]
2. B,C,D,E, A

[Option ID = 2242]
3. E, A C, B,D

[Option ID = 2243]
4. C,D,E, A, B

[Option ID = 2244]
Correct Answer :-
e A/B,C,D,E
[Option ID = 2241]

54) Given below are two statements

Statement I: Stake’s model of curriculum evaluation is based explicitly on the assumption that the concerns of the
stakeholders—those for whom the evaluation is done—should be paramount in determining the evaluation issues

Statement II: The Eisner model is built on two closely related constructs: connoisseurship and criticism.

In light of the above statements, choose the most appropriate answer from the options given below

A9 ST wuTfrged :

HAT - | : qTTFAT CEATHT FT R FT ATSH TTL & @ T AGTTT I sneariya § o geaisa daefy gt  frafwor 7 faarot-
s fog geatsa frar srar &- &g gataf @i 1R us o=@ greaww 3 o a=<ff qoasr ara darat #17
AMILAFHAT ZIAT 7



FIT - || : TET At a7 foswe aa ¢t fafafxrai: gorsar shw swar=ar gz A 8.
ITLH FIAT d Aars A fAefafag fAweat 7 @ agrsae g «

[Question ID = 562][Question Description = S2_qSNz_PG_EDU_Q54]
1. Both Statement | and Statement Il are correct/®a¥ | % || T @&l &

[Option ID = 2245]
2. Both Statement | and Statement Il are incorrect/®=« | 3% |l ST T &

[Option ID = 2246]
3. Statement | is correct but Statement Il is incorrect/®a¥ | w&t &, e Fa || 78T 781

[Option ID = 2247]
4. Statement | is incorrect but Statement Il is correct/®9+ | #et 721 2, fheq Fa7 1l 77 &

[Option ID = 2248]
Correct Answer :-
e Both Statement | and Statement Il are correct/®a | 3i¥ || T 75T &

[Option ID = 2245]

55) Match List | with List Il

List | List Il
Curriculum Evaluation Model Given By

A. Effectiveness Model I. Kirkpatrick
B. Goal-Free Model Il. Scriven

C. Four-Level Training Evaluation Modellll. Tyler

D. Countenance model IV. Stake

V. Bradley

Choose the correct answer from the options given below:

T -1 FT AT -1 F gRTE v

=T -l =T -l
TSIt IATHT AITA TETAT
A, wHTIIQT AT I frwdfes
B.q&T-HF AISH I R&waT
C.aAT-Fq Y wfreawr geaiawa i . ZT3AT
D. srfw=afs wisa IV. T

A i

19 frg g faswear & @ gt savgiqT:

[Question ID = 563][Question Description = S2_qSNz_PG_EDU_Q55]
1. A-,B-Il,C-1I,D-1IV

[Option ID = 2249]
2. A-1,B-IV,C-1ll,D-V

[Option ID = 2250]
3. A-V,B-1I,C-1,D-IV

[Option ID = 2251]
4. A-UII,B-1,C-1l,D-1IV

[Option ID = 2252]
Correct Answer :-
e A-I,B-Il,C-Ill,D-1IV

[Option ID = 2249]

56) Finding solution of problems by creating proper environment is the main essence of which philosophy?

gR o @ o g7 g1 auedt F7T AT AT FF7 90T F1 HA q3T 2

[Question ID = 564][Question Description = S2_qSNz_PG_EDU_Q61]
1. Idealism/zmEetaTs



[Option ID = 2253]

2. Naturalism/sfaaTa

[Option ID = 2254]
3. Biological Pragmatism/3tfas sqagmars

[Option ID = 2255]
4. Existentialism/rRaqeaars

[Option ID = 2256]

Correct Answer :-
e |dealism/=m=staTe
[Option ID = 2253]

57) “God, the great giver, can open the whole Universe to our gaze in the narrow space of a single land” was said by-

£, T AT Ta1aT 8, Tt uae g iy & dfiof sowr gd 9quf ag[1oe &7 399 T aFqT 8. 98 Frasr w97 872

[Question ID = 565][Question Description = S2_qSNz_PG_EDU_Q62]
1. Plato/wf2T [Option ID = 2257]

2. Rabindranath Tagore/¥fa=s=T=r &M% [Option ID = 2258]

3. Swami Vivekananda/=mHT fa=rt== [Option ID = 2259]

4. Mahatma Gandhi/®greaT Tieft [Option ID = 2260]

Correct Answer :-
e Plato/=er [Option ID = 2257]

58) Match the given theme in List | with most suitable School of Philosophy given in List II

List | List Il

Theme School of Thought
IA. Recognizes ideals and beliefs on the basis of experiments I. Idealism

B. Recognizes truth beauty and goodness of self- consciousness Il. Existentialism

C. Recognizes no clear-cut difference between matter and consciousness.|lll. Pragmatism
D. Recognizes the inner and immediate realization IV. Naturalism
Choose the correct answer from the options given below:

T -1 FT AT -1l | gRF fifvg

gt -l =T -l

BRI EEIECIEN

A, TV & AT T AMILAT AT GTTOTS FH T AT=AAT TLTT P —

wTAT §

B. STTH-ITAT T AYTS, La<aT T A=ZTE ®1 qr09aqr |,

ST HIAT § prfRacaars

C. 7Ty ST IqAT % 19 FIs ooy fyag g araqr I
AAZITATT

D. swfews s T aearfors sl &7 A1egaT w217 FLATE V.
LEAGELG

A9 frg oy fasweqt & @ gt sacgfo:

[Question ID = 566][Question Description = S2_qSNz_PG_EDU_Q63]
1. A-1,B-1l,C-1Il,D-IV

[Option ID = 2261]
2. A-1ILB-1,C-1V,D-Il

[Option ID = 2262]
3. A-llLB-1IV,C-1I,D -1

[Option ID = 2263]
4. A-1,B-IV,C-1I,D-1ll

[Option ID = 2264]

Correct Answer :-
e A-I,B-Il,C-1ll,D-IV

[Option ID = 2261]

59) Which of the following statements are true :
A. According to Sankhya both Spirit and Matter are Infinite and External

B. Upanishad dispels ignorance and takes the person desirous of emancipation near God and frees the bondage of birth and
death

C. Kain is one of the Chief Upanishads



D. Shankaracharya has supported Bhaktiyoga of Gita
E. According to Mahayana a man should strive for his own emancipation

Choose the correct answer from the options given below:

Mefafaa § 4 F17 8 a7 98T 87

A. 1&g & AT TV T v 7 FatHg shcarg s

B. SUfAYT AFTT FT X FLAT & AT LIFFTHT ATH FT AT GAT R FITATE TATHTAT-TI B ST F TJ FLAT|.
C.HT THE UMY A § TF &

D. simTraT™ 7 AT & wivwaw w1 a7 {HA78

E. AETATH & AT AFF 7 oqw IFTTH fog wara s3A71 Arfzw.

A9 frg g faseai § /@ 98 ST ¢

[Question ID = 567][Question Description = S2_qSNz_PG_EDU_Q64]
1. A, Band D only/#=<T A, B 3w D

[Option ID = 2265]
2. B, Cand E only/#a« B, C &7 E

[Option ID = 2266]
3. A, Band Conly/Fa A, B 3z C

[Option ID = 2267]
4. B, Cand D only/#a= B, C 3T D

[Option ID = 2268]

Correct Answer :-
e A, Band D only/#a< A, B 3T D

[Option ID = 2265]

60) Maharshi Patanjali has spoken about Five kinds of Chiitavriti or Mental Processes. Arrange them sequentially :
A. Enables us to get true knowledge of things

B. Remembrance of the subject retained in memory

C. In dream an object is not present, seems to be present

D. Which depends on words in the absence of the concerned object

E. False knowledge that does not allow one to get true picture of anything or situation

Choose the correct answer from the options given below

Agf§ odsrfr } afw w1 #T gy w1 9ed @ PraT @ S+) wRat gaafRag w3
A. g/ ST B ATEqfAT ATT ITH FIF D 97 T9797 §

B. = {3 a1fYa fywy &1 a13 $TAT

C. Tgq # &€ qeq ITfewq agl graT 8, switay wdfiq grat &

D. ST & farg aeg w1 argufRafy & asat wx fAdTavard

E. ey 17 AT &1 et aeg a1 R fy &7 a8t 195t wrw a8t 33 Iav

13 fag g rsweai & @ gy SAT A :

[Question ID = 568][Question Description = S2_qSNz_PG_EDU_Q65]
1. A,B,C,D, E

[Option ID = 2269]
2. A E,C,D,B

[Option ID = 2270]
3. AODECB

[Option ID = 2271]
4. C,D,B, A E

[Option ID = 2272]
Correct Answer :-
e A/B,C,D,E
[Option ID = 2269]



61) Match List | with List Il

List | List Il

Chief-Tenets Respective
Forum

A. Provides a framework of virtual repository of learning I. Virtual

resources with a single window search facility Labs

B. The training for teachers and students is imparted through

. . . Il. Swayam

workshops where participants are taught basics of embedded Prabha

systems and programming

C. Provides a fully interactive simulation environment to . E-

perform experiments, collect data, and answer questions to )

. . 'Yantra

assess the understanding of the knowledge acquired

D. An initiative to provide 32 high quality educational |IV. National

channels through DTH to deliver e-education in a most cost  |Digital

effective & inclusive manner Library

Choose the correct answer from the options given below:

T -1 w1 AT -1l | gR Y fifvg

SSUR = -1l
NENEC)

g d<d

B ¢ I

A, TH-eaTfas @rs gfaar  ary safymw Garaat 3 srardt Fra|l. ATt

BT T TITT HIAT 8 STARTATATY

B.sreqTash1 ST faartfiay &1 srfararet & aregq & widraow P —

fear sttt @ fSrad sfasrfrat st ararfya gt s orarfHT 1 SI';TT

Ao STAwTS <% 9T 2.

C. AfHT ATT FT AT F AATHT g TAIT FIA, TTST AT FLA
ST a5t FTIATIT B g us gofa: s a:Frareas sgeao afade
MITH FIAT §

. -g=

D. srcafars v wwTd sk gATa off fafer @ £-frgr wera 747
@ g FATe  ATeaw | 32 IF LUADAT ATH FTT TITT FLA F7
TF TEA

Iv. Tt

MEES
QETHTAT

19 frg g fyswear & @ g sav AT

[Question ID = 569][Question Description = S2_qSNz_PG_EDU_Q71]

1. A-ll,B-1,C-1v,D-1l

[Option ID = 2273]
2. A-IV,B-1II,C-1,D -1l

[Option ID = 2274]
3. A-ILB-1L,C-1,D-1IV

[Option ID = 2275]
4. A-IV,B-1Il,C-11,D-I

[Option ID = 2276]

Correct Answer :-
o A-IILB-1,C-1IV,D-1l

[Option ID = 2273]
62) Which of the following online learning destination founded by Harvard and MIT in 2012, which offers courses from the
world's best universities and institutions to learners everywhere?

grEE T waawsat grr 2012 ® eqrivg fafafaa & @ s17 a1 svarzgT afdv SReq o= forsg & gataw rafyaraay s
HEATAT F ITSAHH A FTaFHAf A F1 7@ F SATE LLIT FIAT 77

[Question ID = 570][Question Description = S2_qSNz_PG_EDU_Q72]

1. Moodle/qg==

[Option ID = 2277]
. edX/EETua

[Option ID = 2278]

. CEMCA/#réumsfin



[Option ID = 2279]
4. Linked in/fee =7

[Option ID = 2280]
Correct Answer :-
® Moodle/qz=
[Option ID = 2277]

63) Match List | with List

List | List Il

Chief Characteristic Learning School

A. Learning hap!)ens when a learner thalns new or I. CONSTRUCTIVISM
changed behaviour as a result of a stimulus

B. learning is about internal cognitive processes or the Il. HUMANISTIC
handling of symbols in the mind. THEORY

C. focuses on individuals and the mental structures they
possess, and how those structures and past experiences/
knowledge speak to and influence the construction of
various things

11l. CONNECTIVISM

D. students learn best when their natural desires
and inclinations to be creative, to grow, to learn etc. are [IV. COGNITIVISM
harnessed rather than changed or suppressed

V. BEHAVIOURISM

Choose the correct answer from the options given below:

g -1 Fr gt -1 F gRfa v

SSUR = -l
T
ey fagwar aftre
arET
A, T FTE ATFTAFAT SENTT B FACTET AT SAg97 wfeafda 1.
AT ITH AT S a1 ATATH gfeqT grar g REEEICIE
.. . . . N
B. SIf&7H &1 WS o ad F¥&@ A ATATHS THAT AT Afeqasw: § GHqT o
'%'ﬂ:a'T?*f;f@g Hiddqdlql<l
frara

C. U ITq T Gargur 3 A f3F hT a4 Arafis AT qard
EYFAT T qF sqwa/ArT R ware s st it saraz w7

TATIIT FLA § NI ITH FATE LS & Kbkl
D. af¥ frertfi=i #1 wrfa® gsa1d ST ga19- THATHT FIeT, v
farsTa $TAT, drEgaT, geatfe- gfeafda a1 afaa &3 1 srg #s.rr:r'q'ra
STeATiRa #1 ATHT & a7 STRT I A HfqTq FaT 8.
V.
Faagrtara

19 frg g fasear & @ ggrsavgiAw:

[Question ID = 571][Question Description = S2_qSNz_PG_EDU_Q73]
1. A-V,B-1lll,C-1,D-1

[Option ID = 2284]
2. A-1,B-1,C-1V,D-V

[Option ID = 2281]
3. A-V,B-1l,C-1V,D-1I

[Option ID = 2282]
4. A-V,B-IV,C-1,D-1I

[Option ID = 2283]
Correct Answer :-
e A-I,B-I,C-IV,D-V

[Option ID = 2281]

64) Arrange the first five instructional strategies used in e- learning in sequential order

A. Information presentation: The web pages display textual as well as graphical information for the learners.



B. Guidance and Collaboration: E-mail and online asynchronous discussion group facilitate collaboration on the web.
C. Decision-making: Computer and web technologies allow learners to take their own decision to follow links provided on the pages.

D. Drill and Practice: As in computer assisted learning, the web also provides drill and practice opportunities. Using formative assessment techniques in the

course content presented in small web pages can lead to optimized learning.
E. Feedback: Learners can receive automated feedback to their assignments, and interaction with formative assessment tools in the web pages.

Choose the correct answer from the options given below

£afHT & ILF 77 70T AGIATeHF FTLATIAT F1T FAATT LATTT F

A. gaaTyegf: a9 ¢y sftvrmsaf @ o arfsy shv s & gaar vaffia swa &

B. #AT%{-fAder T arA T R sh T siqerss quewtiors o= aqg aa araard T LI I7 8

C. fvfae: #cgex st aw wrenffwal aftrasaist 1 ead aoat fAoig /7 & gaa aq7a § arfs 3 ¢9f 7 ve s as v as

D. f¥= s T arvara: Fogex gfRad afya 7T I@ 37 9 YT AT ATATT AFEIARITTAFATE. TATA AT VT A TEQT TR/ A (AWT-ATY A THATHE LoATHA
THAVIFT B TAT R TZAA ATYTT T AFHATR.

E. wiagfE: stfrrwsaf oo #5141t 31 eg-ariog wiygf@ wra sxasa § 13 8 @ ITA7eA S qeaiaa & Q19 oeq: Far $T9F7 §
#13 fag g fFrFeai @ @ gETSTTA :

[Question ID = 572][Question Description = S2_qSNz_PG_EDU_Q74]
1. A,C,B,D, E

[Option ID = 2286]
2. C,A,B,D,E

[Option ID = 2287]
3. A,CD,B,E

[Option ID = 2288]
4. A,B,C,D,E

[Option ID = 2285]
Correct Answer :-
e A/B,C,D,E
[Option ID = 2285]

65) Which of the following options are correct for synchronous learning?

A. Synchronous learning refers to a learning event in which a group of participants is engaged in learning at the same time
B. Participants can learn in their own time and schedule

C. Real-time feedback for the instructor

D. Self paced learning

Choose the correct answer from the options given below:

ggaTias sfwrw & fog fawforfaa /@ @ v a1 faswey agdt @2

A. g&Tios aferrw w1 arcad wa YET Afyww gear @ § Kraw 112 afoanit aqg oF € awg afyaa § g grar g
B. wfawTeft stow wad & 97 i< Ay & aqaqa af¥yva v §

C. siqgaa® & foy areafas gua wfaqfy

D. ®g-wfa® srfarrw

A9 frg g fasweqt & @ 9y S9T A ¢

[Question ID = 573][Question Description = S2_qSNz_PG_EDU_Q75]
1. Aand B only/#a« A i B

[Option ID = 2289]
2. Aand C only/#a= A =¥ C

[Option ID = 2290]
3. A, Band Conly/#a A, B T C

[Option ID = 2291]
4. B, Cand D only/#a« B, C 3 D

[Option ID = 2292]
Correct Answer :-
e Aand B only/#a A #iT B
[Option ID = 2289]



66) Which of the following theory may support this statement- “The teacher should encourage the student to discover their
own connections between seemingly discrete information, using different means (e.g. Twitter, wikis, blogs, open
educational resources)”.

frafafaa @ & #1791 RFTT 3T FI7 FTI90T FQT - "Feq1qF F 7 frarfay 1 fafarg qaraat  g0v g @R/, ey,
fafer, sdtva, g AT da1g9) g6 w0 @ Ffsmw gaar @ 9 @d g G99 et & forg wrearfga a7 9o

[Question ID = 574][Question Description = S2_qSNz_PG_EDU_Q76]
1. Cognitivist/HATH®

[Option ID = 2293]
2. Constructivist/TT==TcH®

[Option ID = 2294]
3. Connectivism /& ToHTHF

[Option ID = 2295]
4. Humanistic/dATAa9<H

[Option ID = 2296]
Correct Answer :-
e Cognitivist/&STTHF

[Option ID = 2293]

67) Which of the following are the Asynchronous Learning Platforms?
A. Webex

B. Moodle

C. Canvas

D. Google meet

Choose the correct answer from the options given below:
frafafaa 8 9 i sragarias aferme @ewid §2

A. 3qF9

B. q=T

C. HaTH

D. 7w HYe

= fyu g fywedt & @ gt ST HA ¢

[Question ID = 575][Question Description = S2_qSNz_PG_EDU_Q77]
1. Aand B only/#a« A i B

[Option ID = 2297]
2. Band C only/#a= B 3fiT C

[Option ID = 2298]
3. Aand Conly/Faa A 3w C

[Option ID = 2299]
4. Band D only/#a< B 3T D

[Option ID = 2300]
Correct Answer :-
e Aand B only/#a A =T B
[Option ID = 2297]

68) Match List | with List I

List | List 1l

Social Theories
Key Features

IA. Symbolic interactionism I. Use Symbols, Face to face Interactions
B. Structuralism Il. Aspects of society & its functions
C. Functionalism Ill. Competition for scarce resources

. IV. Breaking down mental processes into small
D. Conflict Theory
components

Choose the correct answer from the options given below:

T -1 FT AT -1l | gR I v



gt -l gt -l

ararTfys fRrgia weT Afrereror

A. gidfas srea:framare || g T FT 990, AR graa Fa:fear

B. € <HATaTR Il FHTST % Ig AT TED Th1A
C. 7T aTE Il 3w gare«t & fag wiwarfiar
D. g9¥ fagid IV. aTaf® wHAT T A g2FT 7 fqgeq

19 frg oy faswear & @ ggrsav AT

[Question ID = 576][Question Description = S2_qSNz_PG_EDU_Q78]
1. A-1,B-Iv,C-1l,D-1lI

[Option ID = 2301]
2. A-1,B-IV,C-1,D- 1l

[Option ID = 2302]
3. A-ILB-1,C-1,D-1IV

[Option ID = 2303]
4. A-1,B-IV,C-1lll,D-1l

[Option ID = 2304]
Correct Answer :-
® A-I,B-IV,C-Il,D-1ll

[Option ID = 2301]

69) Which of the following are key components of Care Model of Nel Noddings?
A. Modeling

B. Dialogue

C. Practice

D. Confirmation

E. Originality

Choose the correct answer from the options given below:

fraafafaa & /@ 19 3@ M 3 ITTATST S BT 9TF 57
A, misfT

B. 418

C. r¥qTH

D. gf¥

E. syfarsar

1= frg g fasweai /4 @ gt S HA ¢

[Question ID = 577][Question Description = S2_qSNz_PG_EDU_Q79]
1. A, B, Cand D only/#a= A,B,C 3w D

[Option ID = 2305]
2. A, C,DandE only/#a=T A,C, DT E

[Option ID = 2306]
3. B,C,DandEonly/#a« B, C, D 3fi E

[Option ID = 2307]
4. A,C,Dand Eonly/#a A, C, DT E

[Option ID = 2308]

Correct Answer :-

e A B, CandD only/#a« A,B,C 3w D
[Option ID = 2305]

70) Who coined the term ‘Sociological Imagination’?

Arfrnwifcree @ R a o fFaa foar

[Question ID = 578][Question Description = S2_qSNz_PG_EDU_Q80]
1. Giddens/f=w

[Option ID = 2309]



2. Michael Young/®Tgse 47

[Option ID = 2310]
3. Nicolas Sarkozy /A=t a¥ahreft

[Option ID = 2311]
4. Wright Mills/%réz faem

[Option ID = 2312]
Correct Answer :-
e Giddens/fiEw
[Option ID = 2309]

71) The most difficult part in doing cost benefit analysis is to determine:-
FATAT ATH fAgww F37 § watfas wfeT wrw -

[Question ID = 579][Question Description = S2_qSNz_PG_EDU_Q81]
1. Tangible benefits and costs/Hd @TH ST ATTT

[Option ID = 2313]
2. Intangible benefits and costs/sHd TS ST AT

[Option ID = 2314]
3. Private economic costs/fsfT sfar @

[Option ID = 2315]
4. Total monetary expenditure/® ifse =7

[Option ID = 2316]
Correct Answer :-
e Tangible benefits and costs/¥d ATH ¥ ATRTT

[Option ID = 2313]

72) Yashpal Committee report is titled as:-

Ferara gfafa fare &1 oftd= §:-

[Question ID = 580][Question Description = S2_qSNz_PG_EDU_Q82]
1. ICT in teacher education/=reamas Tfereror # smeeidr

[Option ID = 2317]
2. Education and national development/fareT T Trgter faermer

[Option ID = 2318]
3. School without walls/=TaTe ¥f2 fE=mes

[Option ID = 2319]
4. Learning without burden/farerr fa=T aer %

[Option ID = 2320]

Correct Answer :-

e |CT in teacher education/=reaTas Tfareror § smeeidr
[Option ID = 2317]

73) Which one one of the following is not involved in policy making decisions:-

afafeg & @ w17 iy g Aotat 7 arfyrs 78 gan

[Question ID = 581][Question Description = S2_qSNz_PG_EDU_Q83]
1. analysis of the existing policy/fE=rar it = =g

[Option ID = 2321]
2. generation of policy options/=Ifer weeT faeedt #1 gor

[Option ID = 2322]
3. policy impact assessments/=T{d & THTS FT ATFAT

[Option ID = 2323]
4. evaluation of policy options/®T{e Heeft faedt #7 qeaiae

[Option ID = 2324]

Correct Answer :-

e analysis of the existing policy /=T fifa =7 g
[Option ID = 2321]

74) Which one of the following is emphasised in the NEP-2020
TrET fareT fy - 2020 ® fwfafaa & @ frg uraw fRaraar?
[Question ID = 582][Question Description = S2_qSNz_PG_EDU_Q84]



1. what to learn/aT HrE=T &

[Option ID = 2325]
2. when to learn/®a HEaT §

[Option ID = 2326]
3. where to learn/#gl Hr@=T &

[Option ID = 2327]
4. how to learn/3¥ #r@wT g

[Option ID = 2328]
Correct Answer :-
e what to learn/=T H1EAT T
[Option ID = 2325]

75) Deschooling Society is written by

e Ty 3 A9E -

[Question ID = 583][Question Description = S2_qSNz_PG_EDU_Q85]
1. Ivan Illich/zam ot

[Option ID = 2329]
2. Jerome K Bruner/SI® & FAT

[Option ID = 2330]
3. David Hartley/zfare greer

[Option ID = 2331]
4. Robert Sherman/Trae <@+

[Option ID = 2332]
Correct Answer :-
e |van Illich/zaTa Toeti=
[Option ID = 2329]

76) Pedagogcal content knowledge in the field of teacher education was first put forward by:-
HETTF frgow & &7 7 frar aralta fAwg-aeg 9179 %71 fF=< frga faan

[Question ID = 584][Question Description = S2_qSNz_PG_EDU_Q86]
1. Habermas/Zawama

[Option ID = 2333]
2. Le Shulman/=T geae

[Option ID = 2334]
3. Deng-Xio-Ping/3T -fSrsmatr-far

[Option ID = 2335]
4. Luke/=I%

[Option ID = 2336]
Correct Answer :-

e Habermas/Za<aTH

[Option ID = 2333]

77) The centrally sponsored scheme of Samagra Shiksha subsumes which of the following schemes:-

g grafora aa v ey ety & foafafag @ 9 T wiat w1 e fegraard?

[Question ID = 585][Question Description = S2_qSNz_PG_EDU_Q87]
1. SSA, RMSA and TE schemes/THUHT, ARUHUHT ¥ 15 =

[Option ID = 2337]
2. KGBVY, Mahila Samakhya and ICT@ Schools /st T, AT T8 v et @ e

[Option ID = 2338]
3. MDM, VE and Eklavya Model Schools/TaETuw, 1 i usersy iz fHamaa

[Option ID = 2339]
4. 1EDSS, SPQEM and Setting of model schools at block level/rEEdtuaus, wafiagEun i wa&e &qv o qiee et fi eraar

[Option ID = 2340]

Correct Answer :-

e SSA, RMSA and TE schemes/TauaT, SeuquyT i &% Shii
[Option ID = 2337]

78) Dr. X, a teacher in school always takes time to analyse her classroom process, to identify more than just what went in



the classroom, what worked and what did not. She is practising -

Frarerm 1 uE fafasr, st X Fa1 9 afeq a1at & 7917 F70F97 FA F g a7 747 9597 @ FAgww g 9wy Awrad €
£ war d FATH, FATFT AT AT FAT A FFAT F Rt srvara FIIETE?

[Question ID = 586][Question Description = S2_qSNz_PG_EDU_Q88]
1. inquiry oriented teaching/¥*1 3¥q@ f&dqTaH

[Option ID = 2341]
2. reflective teaching/fEawes steama

[Option ID = 2342]
3. competency based teaching/T&wdT AT&TA AeATI

[Option ID = 2343]
4. expository teaching/=aTeaTcH ALATIT

[Option ID = 2344]
Correct Answer :-
® inquiry oriented teaching/¥1 3@ eqTIT

[Option ID = 2341]

79) Match List | with List Il

List | List Il

Subject Artlcl? of the
Constitution

IA. Education of Minorities I. Article 21 A

B. Instruction in Mother tongue at a primary
stage

Il. Article 29

C. Right to Education Ill. Article 30

D. Right of Minorities to establish Educational

e . IV. Article 46
institutions

V. Article 350 A

Choose the correct answer from the options given below:

g -1 Fr gt -1 F gRfa v

gt -l gt -l
e Hf’q:fsrﬁr &7
TR
A STFTEEIRT HT FRr&T | FIT=_AT 21A
B. wTafH® TqT 9T ATIATHT & AT I.7g=8T 29
C. farar w71 st Il I8 30
D. &% deqTa TATIIT FIF FT ATTE IR FT _
IV. I8 46
CIPEDEY
V. 8T 350 A

19 frg oy faswear & @ g sav AT

[Question ID = 587][Question Description = S2_qSNz_PG_EDU_Q89]
1. A-Il,B-V,C-1Iv,D-1l

[Option ID = 2345]
2. A-1I,B-V,C-1,D-1IV

[Option ID = 2346]
3. A-I,B-1lIl,C-1I,D-V

[Option ID = 2347]
4. A-11,B-V,C-1,D-1ll

[Option ID = 2348]
Correct Answer :-
e A-I,B-V,C-1V,D-1lll

[Option ID = 2345]

80) The guiding principles for curriculum development in NCF-2005 are:-



A. Connecting knowledge to life outside school

B. Ensuring that learning shifts from rote methods

C. Nurturing an over-riding identity informed by caring concerns within the democratic polity of the country
D. Emphasis on examinations

E. Teacher centred education

Choose the correct answer from the options given below:

TTHITR-2005 & qrsa=af fasra & foow ar-fAg ot fargia -

A. A=A F FUET ATH KT SATGT F SATSAT

B. w@a wgfy & stferrw 1 yawar g st

C. TY &1 AAFATIAF ATEAT & WA 3@-3@ @9 eft qET g1 g f=a searady afRwar &1 o fyg #3ar
D. vi&Tat T a e

E. srearaas afesa frar

A9 frg g faseqt & @ 9y S9T A ¢

[Question ID = 588][Question Description = S2_qSNz_PG_EDU_Q90]
1. A, BandE only/#a< A, B 3T E

[Option ID = 2349]
2. B, CandE only/#a« B, C 3T E

[Option ID = 2350]
3. A, Band D only/#a A, B #fiw D

[Option ID = 2351]
4. A, Band C only/#a+ A, B T C

[Option ID = 2352]

Correct Answer :-
e A BandE only/Fa« A, BT E

[Option ID = 2349]

81) An institution wishes to apply for the assessment and accreditation from NAAC. Which of the following performance
indicators it should focus on as per NAAC requirements

A. Teaching learning and evaluation

B. Curricular aspects

C. Election of students union members
D. Infrastructure and learning resources
E. Students support and progression

Choose the correct answer from the options given below:

FfE I AT TT T T /1 F FEATHT FT Teqma7 # A0 s a7 FIA7 78T & 97 ST TT T AT FT A&7 F ATHTL
fawfafas d @ 57 waofa GRTFi sa17 * g FTa71 I7fRW@:

A. farew srferare s gaaisa

B. ITSIHH & T

C. T §F &4 FT AT

D. AFE AT ST ATYTH HHqTET

E. g1 gadT el g

= fyu oy fyweat & @ gt S ¢

[Question ID = 589][Question Description = S2_qSNz_PG_EDU_Q91]
1. A, B, Cand D only/#a A, B, C T D

[Option ID = 2353]
2. A, C,DandEonly/#as A, C, D3fiT E

[Option ID = 2354]
3. A, B, Dand E only/#aw A, B, D 3iv E

[Option ID = 2355]
4. B,C,DandE only/#a« B, C, D T E



[Option ID = 2356]

Correct Answer :-

e A B,CandDonly/#a« A, B, C3w D
[Option ID = 2353]

82) The new pedagogicaland curricular structure envisaged for ECCE in NEP-2020 is

NEP-2020 & ECCE &% foru faratiea @ farart srraft qrewr=at @<= §:

[Question ID = 590][Question Description = S2_qSNz_PG_EDU_Q92]
1. preparatory/aT<T T FTT

[Option ID = 2357]
2. foundational/ZfA=TaT

[Option ID = 2358]
3. early childhood and care education/STZfFq FTeaTaEgT ST F@AT T forear

[Option ID = 2359]
4. middle/#Teati=s

[Option ID = 2360]

Correct Answer :-
® preparatory /Il T =0T

[Option ID = 2357]

83) PARAKH is proposed to be set up as :
93@ (PARAKH) FT e &7 & T1fUd 37 &7 1eq19 872

[Question ID = 591][Question Description = S2_qSNz_PG_EDU_Q93]
1. National training centre for teachers/foreri & forw Trgir wforerr &3

[Option ID = 2361]
2. National assessment centre/ITEIT qeaia 5

[Option ID = 2362]
3. National testing agency /TSI TreT Tsieft

[Option ID = 2363]
4. National digital repository/¥Tgts fEforee fermme

[Option ID = 2364]

Correct Answer :-

e National training centre for teachers/forershi & form Trgi wfereqo g
[Option ID = 2361]

84) The sequence of steps taken by policy makers using Rational choice theory is:-

A. discover all the alternative policies available to accomplish the values.

B. identify all the value preferences currently existing in a society and assign each value a relative weight.
C. involves only small number of persons to allocate values for society and not the masses.

D. know the total cost and consequences of each alternative policy.

E. select the best alternative which is also the most efficient in terms of costs and benefits of social values.

Choose the correct answer from the options given below

iy frataret g aga v fAFey fRAgia T ITNT FIG §USSTTTT FIAT FTFA G -

A. =T FY 7T }Y ITTsy wHAT FFfeusm ATy #1 @rs w3

B. IHHTT ® TH TATS § AI9[E THT LT TOIATA %1 TZATT FX ST AT LT 1T TH TTHF AT TTT FL
C. 99T % AT AT & MFTT | TTAHE FT T ATIY FIT FA GITH AT FT ATCHT FX

D. wea% d&feqs A1fa A1 g« arwra sk aforrs S+

E. 9498 fa®eq T 79 F IT ATATINF odT T A17T AT ATHT 3 daH § 998 qfym aq7 v

= gy fasedt & @ gt S ¢

[Question ID = 592][Question Description = S2_qSNz_PG_EDU_Q94]
1. B,A, D, E

[Option ID = 2367]



2. D,B,AC

[Option ID = 2368]
3. AB,CE

[Option ID = 2365]
4. C,AD,E

[Option ID = 2366]

Correct Answer :-
e A/B,CE

[Option ID = 2365]

85) Arrange the following in the chronological order of formation
A. Wardha or Basic scheme of Education

B. Rammurthy report

C. Mudaliyar commission

D. Kothari Commission

E. University Education Commission

Choose the correct answer from the options given below

fafafag #1373 o7 @ Frargwias 77 9 aafeag w1

A. agf 771 fargr v giard Fisar
B. T fd feare
C. gaThor R FHIAT
D. HISTL AT
E. frsaferrag farar s
= frg g faweai & € 987 ST ¢

[Question ID = 593][Question Description = S2_qSNz_PG_EDU_Q95]
1. A,B,C,D, E

[Option ID = 2369]
2. A E,B,D,C

[Option ID = 2370]
3.B,CED,A

[Option ID = 2371]
4. AJE,C,D,B

[Option ID = 2372]
Correct Answer :-
e A/B,C,D,E

[Option ID = 2369]

86) Match List | with List Il

List | List Il
Verticals of HECI Functions
A. NHERC I. Funding
B. NAC Il. Regulation
C. HEGC Ill. Academic standard setting|
D. GEC IV. Accreditation
V. Professional development

Choose the correct answer from the options given below:

AT -l FT AT -1l |/ gRf™T FSC:

gt -l = -l
T T |7 s & Seaia} T
A. TTTT S AT HT I fafargs




B. TT T 9T I1. fafagas

C. g ST at 1. sterfors TaT swaTAT

D. T € &7 IV. TITIH

V. =raariyw fasrg

19 frg g faswear & @ gyt sav AT

[Question ID = 594][Question Description = S2_qSNz_PG_EDU_Q96]
1. A-1,B-1V,C-1,D-1I

[Option ID = 2373]
2. A-1,B-1V,C-V,D-I

[Option ID = 2374]
3. A-1,B-1,C-IV,D-V

[Option ID = 2375]
4. A-IV,B-1ll,C-1I,D-1

[Option ID = 2376]
Correct Answer :-
e A-Il,B-1IV,C-1I,D-1ll

[Option ID = 2373]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The regulatory system of higher education should ensure that the distinct function of regulation,
accreditation, funding and academic standards setting are done by independent bodies.

Reason R:  This will help to redistribute workload with ever increasing number of institutions.
In light of the above statements, choose the correct answer from the options given below
A Y waT R awE @ uF w1 afrwaT (A) AT gEX FT TR (R) FETIAATE

afrwad (A) : 37 forar & fafaamms a1 #9198 gt s w1y e waaw ferat greo fafraaa, sargs, Afda sic
S &forF wraHT F1 eATqAT F71 fAfary w1 fFararg

& (R): T HEATSH %1 G477 TTATT GSAT B 1T FTA AT FHT [ATAAILT FIA A GEIAT GIT
STE<E FAAT @ et A oot forg fyweat 4 @ agr s :

[Question ID = 595][Question Description = S2_qSNz_PG_EDU_Q97]
1. Both A and R are true and R is the correct explanation of A/(A) 3% (R) a1 @&l & ¥ (R), (A) FT 987 =147 §

[Option ID = 2377]
2. Both A and R are true but R is NOT the correct explanation of A/(A) % (R) 24T @ET & 7+q (R), (A) ¥ FET =meaT 1271 &

[Option ID = 2378]
3. Ais true but R is false/(A) T2 € 7] (R) & 7l &

[Option ID = 2379]
4. Ais false but R is true/(A) 2T 781 € 7%= (R) T&I &

[Option ID = 2380]
Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3% (R) 3191 5al & =i (R), (A) #T @&t =T8T 8

[Option ID = 2377]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A:  The revision and revamping of all aspects of the educational structure, including its regulation and
governance is necessary

Reason R: Education system is facing unprecedented challenges .

In light of the above statements, choose the most appropriate answer from the options given below

I A FATRTTTE : TF F1 ATXFAT (A) FHT T FT TS (R) FZTTAT R

FfwFaa (A) : FGirF GI=AT D AAT TG0 F7 79 AIATAT KT v AT FATHT M gALTSAT MALAF
& (R) : fRrerr wurrelt Y srspaqd TARAAT FTATHAT FIAT IS T8

ITLH FIAT & Aars A AwifFg faseat & @ gt I+ :

[Question ID = 596][Question Description = S2_qSNz_PG_EDU_Q98]
1. Both A and R are correct and R is the correct explanation of A/(A) 3% (R) ZIT @=&T & 3% (R), (A) FT 7T =A18a7 8

[Option ID = 2381]
2. Both A and R are correct but R is NOT the correct explanation of A/ (A) 3% (R) 19T 5l & 73+ (R), (A) FT F&T =ATEAT 7Tl &

[Option ID = 2382]
3. A‘is correct but R is not correct/(A) #&l § T%=] (R) Tl 2T &



[Option ID = 2383]
4. Ais not correct but R is correct/(A) W&t T2 & T+q (R) #ET &

[Option ID = 2384]

Correct Answer :-

e Both A and R are correct and R is the correct explanation of A/(A) i (R) Tt 2T & 3T (R), (A) F¥ #&l =A=AT §
[Option ID = 2381]

89) Given below are two statements

Statement I: The school complex/cluster aimed at greater resource efficiency and more effective functioning,
coordination, leadership, governance, and management of schools in the cluster.

Statement Il: The Kothari commission recommendation on school complexes could not be implemented since the school
leaders, teachers, students, supporting staff, parents, and local citizens of different schools grouped in
school complex/cluster objected to it.

In light of the above statements, choose the correct answer from the options given below

= v waafrgaed

FAT-1: fEmEy 9@/ (=8 FTS2T =8 A fqaad 1 A 9F G979 971 T ATqF A974T FTAFTS, FHAT,
Aged, qTaT AT AIGT

AT - 11 : foremar of@d a9 St st T 1 frerfer w1 @rp g a7 o7 997 #ifw Rrerraat & aqra, fGrawt,
FTat, ggra® FA 10T, ATAT-Marn, @< fFramwy afme & gafyg iy Remaat 3 eardtg a9 3@ g arafy stard 2

STE < FAAT @ et § fawffaa fraeat 8@ @ afysaead .

[Question ID = 597][Question Description = S2_qSNz_PG_EDU_Q99]
1. Both Statement | and Statement Il are true/®=+ | 3i¥ || ST @21 &

[Option ID = 2385]
2. Both Statement | and Statement Il are false/®= | ¥ || T 7T &

[Option ID = 2386]
3. Statement | is true but Statement Il is false/®= | TIET &, e Fo7 Il 9 &

[Option ID = 2387]
4. Statement | is false but Statement Il is true/Fa | Tq &, foeq Fa || 7T &

[Option ID = 2388]
Correct Answer :-
e Both Statement | and Statement Il are true/®= | i || IT T2l &

[Option ID = 2385]

90) Given below are two statements

Statement I:  Covid-19 has led to potential opportunities for disruptive technologies to offer solutions which, aside from
their long-term interest, can potentially maintain business continuity, enhance health-care outcomes and avoid service
disruptions.

Statement Il: Disruptive technology will make certain jobs redundant, and hence approaches to skilling and deskilling that
are both efficient and ensure quality will be of increasing importance to create and sustain employment.

In light of the above statements, choose the correct answer from the options given below

A= T FIA RUACE -

FIT-1:  FI{AT -19 7 g s MrariFwEat & qarary & fog aariaa sga<t #1aga Fwar g, a7 6 s7a ddwrfos fga @
BEFHY, HHAT: ATITT FAITLAT 9T 1T TFT &, TATEST IGATA $ TILUTHT FT TZTIHA & AT AAT HTAGT & I FA &

FIT- 1l : Tedas wrenfrtwat g7 w0l 1 s a1 S0, KT gqioy Fa77 AT ragerera, A1 a7 § M gora«v
gfafaa #33 €, FTIRFOUATT @A TIT 9977 @A F fHT ST AAT ATHAT 4T

SYLE FIAT & Arwls q fAefafaa fawee & & agisavgd «

[Question ID = 598][Question Description = S2_qSNz_PG_EDU_Q100]
1. Both Statement | and Statement Il are true/®=+ | 3% || ST @ET &

[Option ID = 2389]
2. Both Statement | and Statement Il are false/®= | 3% || T 77 &

[Option ID = 2390]
3. Statement | is true but Statement Il is false/®=¥ | @&l &, foeg 9 || 7o

[Option ID = 2391]
4. Statement | is false but Statement Il is true/Fa | T 2, foheg Fo7 || 761 &



[Option ID = 2392]

Correct Answer :-
e Both Statement | and Statement Il are true/®=+ | =% || T @& &
[Option ID = 2389]

Topic:- Education_SH2_SHAAN_NOV21B

1 ) Read the paragraph given below and answer the question that follows

Narration (with the teacher as narrator) leads the students to memorize mechanically the narrated content. Worse yet, it turns them into "containers," into
"receptacles” to be "filled" by the teacher. The more completely she fills the receptacles, the better a teacher she is. The more meekly the receptacles

permit themselves to be filled, the better students they are.

Education thus becomes an act of depositing, in which the students are the depositories and the teacher is the depositor. Instead of communicating, the
teacher issues communiques and makes deposits which the students patiently receive, memorize, and repeat. This is the "banking” concept of education, in
which the scope of action allowed to the students extends only as far as receiving, filing, and storing the deposits. They do, it is true, have the
opportunity to become collectors or cataloguers of the things they store. But in the last analysis, it is the people themselves who are filed away through
the lack of creativity, transformation, and knowledge in this (at best) misguided system. For apart from inquiry, apart from the praxis, individuals cannot
be truly human. Knowledge emerges only through invention and re-invention, through the restless, impatient, continuing, hopeful inquiry human beings

pursue in the world, with the world, and with each other.

In the banking concept of education, knowledge is a gift bestowed by those who consider themselves knowledgeable upon those whom they consider to
know nothing. Projecting an absolute ignorance onto others, a characteristic of the ideology)of oppression, negates education and knowledge as processes
of inquiry. The teacher presents himself to his students as their necessary opposite; by considering their ignorance absolute, he- justifies his own
existence. The students, alienated like the slave in the Hegelian dialectic, accept their ignorance as justifying the teachers existence—but, unlike the
slave, they never discover that they educate the teacher.

faafafag Tata Frog FTRTITTT HTITCE.

AT (e d srearus wearargrare) @ frardfsarearig fvrarg M F 73 17 FRATE . g@d ST araagd Pragfrardisr s arr ardgw &
FIF TS, IR sTeqTa® ‘wLqr TAT]. FIE eIyt gt guiar @ sgagF &1 9wt S, ag ST et a==t fufawrgrdt g, SraarRaagds s dgmeaa a7
W IATA B AT TEqAFIATE, TgSAATET A=HT Fr=rratgrare.

TAIFTINATTF HSTROUFTE 77T 2 e frarroT w1 g shTsrearas ATF 1T & . ALATIF GATT FIA F1 5775 anfrawries Frafyat ardwward s
HETRU HTATR ora faardT ddgdw agushrenvusward shrgguargard. 78 Rrar =T < aagreurd Srad HrardTgrargg s S gsma s o+t
A PRI gATTRATAAT FIATT R, T4 FTI9A AL A LIV AATAF Y@ . IZAIE T 979 719 ARG ATHIT FTHATES ATIT LA FICTAR FTATATEIAT
g . fpeg s fow g wor &, 3@ Regfarg yurdt (orad aataa w7 9) & A6 gIAreas:ar, AR IATTS AATT R A18IT I 5 FIgTASTRAFIIATE . FA1TH
FrEgT AT AvATa d AT ATFag A2t AT TG T AFAT. FAQ A-ATT AT YT : FATU TATALST FITFATIA-TMG |, STTA-FAT AT TH A 3 19 67
ST AT ATHA, LT, GTT NI AATATA AATN D ATETAH A T ATTSEHTEIATR .

frrar et ST ATITINTH FTT T FTATHT AT a1 ATHAT GTITITATHFIT F T AT ATATTFHF ITZTLR =€ F AT ATAS . Q@A ST L0 T: AATHAT
ATFAT, AT TATH FAAILGTRTFRTAAE, THATHATTIRAD T frgor shrara w1 frea aa12q1] . Feq19% fAarfi=t F arad wad srsasraaeqs vy
FATHTTELAFLATR; S7g LU O AATAT ATA FLTE HIA €4 B A(eAcT HT 0T (G FIATL. INAFTEIATIHTATIT | F§ arfaarei gs fagaaraFraifa
FeATTF D AfTqea FT AT AZF@ AT AATTATHFIENFTTHTAT 3 - ey, ST I D fadra, s g aaragiaa arare B qesaros w1 fwgw
FRE.

This passage depicts exiting education systems as :
7g Tt fargaTa farer yoret 7 frw €9 F yeqa FIaT 82

[Question ID = 599][Question Description = S2_qSNz_PG_EDU_Q56]
1. Teacher-centered/seATTH-Fegd

[Option ID = 2393]
2. Learner-centered/wfammasart &fvad

[Option ID = 2394]
3. Democratic/@TadTieT

[Option ID = 2395]
4. Laissez-faire/srEeqaT &1 Aifa

[Option ID = 2396]

Correct Answer :-
e Teacher-centered/s&aTa®-Ffvad
[Option ID = 2393]

2) Read the paragraph given below and answer the question that follows

Narration (with the teacher as narrator) leads the students to memorize mechanically the narrated content. Worse yet, it
turns them into "containers,"” into "receptacles” to be “filled" by the teacher. The more completely she fills the receptacles,
the better a teacher she is. The more meekly the receptacles permit themselves to be filled, the better students they are.

Education thus becomes an act of depositing, in which the students are the depositories and the teacher is the depositor.
Instead of communicating, the teacher issues communiques and makes deposits which the students patiently receive,
memorize, and repeat. This is the "banking"” concept of education, in which the scope of action allowed to the students



extends only as far as receiving, filing, and storing the deposits. They do, it is true, have the opportunity to become
collectors or cataloguers of the things they store. But in the last analysis, it is the people themselves who are filed away
through the lack of creativity, transformation, and knowledge in this (at best) misguided system. For apart from inquiry,
apart from the praxis, individuals cannot be truly human. Knowledge emerges only through invention and re-invention,
through the restless, impatient, continuing, hopeful inquiry human beings pursue in the world, with the world, and with
each other.

In the banking concept of education, knowledge is a gift bestowed by those who consider themselves knowledgeable upon
those whom they consider to know nothing. Projecting an absolute ignorance onto others, a characteristic of the ideology)of
oppression, negates education and knowledge as processes of inquiry. The teacher presents himself to his students as their
necessary opposite; by considering their ignorance absolute, he- justifies his own existence. The students, alienated like the
slave in the Hegelian dialectic, accept their ignorance as justifying the teachers existence—but, unlike the slave, they
never discover that they educate the teacher.

rafafas mata F1og FTRTTT 739 FTITT R,

AMETH (RraH AeATIF MeATATZIATR) | FAareff sreariya fFrug-aesg T A AT T @ ITIFIATE . gwa AT g araggd fag
frardfTaius ara a1 dgF | aaa2qrg, BE aeqras aar wareg. #1s asarfvawr gt goiar 8 Sgaga s 1 aed1g, agsadigr
=gt frfas1IdT g, NraarRmagds Fr{agF ad FT R I & g Iga FTare, Fg STt sr=ar faardtgiarg.

TAVFTIAATTHF AU FTF TTATAT ] Frad frardf AT g hTAeTTIF ASTTH A 8. ALATTHF AATT FIA 1 ATE ATAFTIF
faafaar TG starg sheweransarg ™a frardf ddgdwm g shrenvnwearg shrggerargars. ag fRrar a1 < e sragror
2 Rrad o grogg s $ T {aEr A gat gidt g R  smaraift FIUgw S, T9d h 1398 R IS8 E MA@, I
g PSR ara AR ATAN FTEUATEF AAATYNFTLITTT FTHAFACgare. Foeg & faa g S, go fRvafag ot (erad gaiaa
FTH) ¥ ATHEGITHAFAT, T AT A TTATT D AATT S ATEAA T TIE FTZT A STRA FIIATE . FAI TR AT AT AT arvama @ Afga=afw
g AT/ ATTT AL GTAFAT. BT SAA T AL LA: A=A TN FATHLST GTA S TA-IATH, AT AF-SHAT M TTH AR & 7 F7 2 T a19d
FTHRA, AT, GAq A LAMATATT AR TN S ATETHE ZIATASELARIAT R

frarar ST FFgTIOT A FTATTT FTFTHATAR AT ATH AT FTAITATHT FT FEITIR ATATTH ITETLR I8 9 AT AT 8.
U RT U AATHTATAAT, ST IAT T IAIRATARTAE, UF ALHATAIRH D TR (AT A TTTT R AGATATIATE. STEATTH
Tl 797 €99 FISTFT AT IIAATH TATFITET FLATE; 78 LUIA: AATATATT HLTE YA €99 & ARaca wTshfwea g
FIATE. ZAARTEIATIHTATAT | &g a1 fyaredi us fFga ara st wifv asaras 2 afRaa sraffyer g 3@ guaaar aqmaars1
THFHTTHTAT &- ey, STITa? FAwdhq, S g raradigaarare f5 3 asaros srirguw s §.

The main characteristic of the banking concept of education is :
farart 1 3 srgTIoT w1 gET Afvwgw

[Question ID = 600][Question Description = S2_qSNz_PG_EDU_Q57]
1. The teacher tells and students listen/sTeamas SrerdT & 3w fEemff qaq &
[Option ID = 2397]
2. Students speak and the teacher listens/far=m=ft arera € i sreamas gaaT
[Option ID = 2398]
3. Both teacher and students discuss with each other/sTeama 3w fa=mff 2=t UF-ga¢ & AT 7=/ Fd &,

[Option ID = 2399]
4. Students raise questions for answers/fE=mff 3% % forw w7 T=q €.

[Option ID = 2400]

Correct Answer :-
® The teacher tells and students listen/reaTae aerdT g 37 fEr=maT g §
[Option ID = 2397]

3) Read the paragraph given below and answer the question that follows

Narration (with the teacher as narrator) leads the students to memorize mechanically the narrated content. Worse yet, it
turns them into "containers,"” into "receptacles” to be "filled" by the teacher. The more completely she fills the receptacles,
the better a teacher she is. The more meekly the receptacles permit themselves to be filled, the better students they are.

Education thus becomes an act of depositing, in which the students are the depositories and the teacher is the depositor.
Instead of communicating, the teacher issues communiques and makes deposits which the students patiently receive,
memorize, and repeat. This is the "banking" concept of education, in which the scope of action allowed to the students
extends only as far as receiving, filing, and storing the deposits. They do, it is true, have the opportunity to become
collectors or cataloguers of the things they store. But in the last analysis, it is the people themselves who are filed away
through the lack of creativity, transformation, and knowledge in this (at best) misguided system. For apart from inquiry,
apart from the praxis, individuals cannot be truly human. Knowledge emerges only through invention and re-invention,
through the restless, impatient, continuing, hopeful inquiry human beings pursue in the world, with the world, and with
each other.

In the banking concept of education, knowledge is a gift bestowed by those who consider themselves knowledgeable upon
those whom they consider to know nothing. Projecting an absolute ignorance onto others, a characteristic of the ideology)of
oppression, negates education and knowledge as processes of inquiry. The teacher presents himself to his students as their
necessary opposite; by considering their ignorance absolute, he- justifies his own existence. The students, alienated like the
slave in the Hegelian dialectic, accept their ignorance as justifying the teachers existence—but, unlike the slave, they



never discover that they educate the teacher.
afafag maia Frog FTRTTT I FTITTF.

METH (A AeqTIF MEATATZIATR) | FAarefi sreatiya fFrug-aesg T AT I @ ITIFIATE . o Argh aragg e fFag
ATt HT T qrr A7 H@gF A A AT, R FTeq7aF ‘93qv AT, FrL AeqAriFT Rrady goiar @ STEgF FI AT ], IEITATEY
F=gt fFrfarsTgIdt . NraarRmagda Srddgaead FT R AT 2 T Rga s @y, agIaaret srsar frardtgrare.

TATFRIAATTF RO FTE FTATATE FOF (T AT G R T ACTTIR ASTIHF G & . ASATTFR GATT FIA HTTAG MITAFTILF
faafaar TG sarg shrwerensarg ™a frardf ddgdwm g shrenvnwearg skrggerargars. ag fRrar a1 < e sragron
g Frad g gruggs@ ST {aEr A gat idt g g T eraraift SITgw R, T9d 1398 MR 138 MA@, TgqT
& TeSaR ara AR aTAINT FTEATEF ATATFHFTLITT FTHIATEIATS. o st fan g ww s, zo fyvafya worrst (srox aataa
FTH) ¥ ATHEGITHAFAT, T AT A TTATT D ANTT S ATEAA T TIF FT 3T HSTG FLIATE . FAI TR AT AT AT Avq1q @ Mg =af=w
g AATH ATTT AL GTAFHAT. BT AA T ST LA: AT FATHLST GIA S TA-FATH, AT AF-SMT A TTH gER % 7 F7d T a19d
TR, AL, AT A AATATA AT S ATETH G I ATA ST ZIATR.

frarF T ST FFETIOTH FTATT FTIFTHTATAR AT ATH AT FTAITATHAT FT IEATTHR ATATTHF ITTLE T8 9 AT ATAS §.
A RT U AT ATTAT, ST IATF T IAARATARTNE, UFH ATHATATHA D TR (AT A TATT R ABATATIATE. STEATTH
T3 e @d FISTFTATTF IIAATH TATFIAEIIFIATS; S8 LU a: AATATATT HITE YA €94 3 ARaca w1 fuea fag
FIATE. TAARTEIATIHTATAT | g a1 fqaredi us Fgaara st wifv aearas 3 aftaca s1afycr g 3@ guaaar aamaars1
THFHTIHTAT 8- Foheg, STITa® FAwda, 578 g raradiaaarare f5a ssaros wrfaguw s §.

Knowledge has to emerge mainly through :
T HTSET q&qq: f5as qreaw & grar Arfzw?

[Question ID = 601][Question Description = S2_qSNz_PG_EDU_Q58]
1. Listening to teachers/ar&aTTt & AT
[Option ID = 2401]
2. Reading the books/TFa: TzAT
[Option ID = 2402]
3. Memorizing the content/faw=-a&g FT aT8 FTAT

[Option ID = 2403]
4. Reflection and action/f=aw i w1

[Option ID = 2404]

Correct Answer :-
e Listening to teachers/sATTHi F TAAT
[Option ID = 2401]

4) Read the paragraph given below and answer the question that follows

Narration (with the teacher as narrator) leads the students to memorize mechanically the narrated content. Worse yet, it
turns them into "containers,"” into "receptacles” to be "filled" by the teacher. The more completely she fills the receptacles,
the better a teacher she is. The more meekly the receptacles permit themselves to be filled, the better students they are.

Education thus becomes an act of depositing, in which the students are the depositories and the teacher is the depositor.
Instead of communicating, the teacher issues communiques and makes deposits which the students patiently receive,
memorize, and repeat. This is the "banking" concept of education, in which the scope of action allowed to the students
extends only as far as receiving, filing, and storing the deposits. They do, it is true, have the opportunity to become
collectors or cataloguers of the things they store. But in the last analysis, it is the people themselves who are filed away
through the lack of creativity, transformation, and knowledge in this (at best) misguided system. For apart from inquiry,
apart from the praxis, individuals cannot be truly human. Knowledge emerges only through invention and re-invention,
through the restless, impatient, continuing, hopeful inquiry human beings pursue in the world, with the world, and with
each other.

In the banking concept of education, knowledge is a gift bestowed by those who consider themselves knowledgeable upon
those whom they consider to know nothing. Projecting an absolute ignorance onto others, a characteristic of the ideology)of
oppression, negates education and knowledge as processes of inquiry. The teacher presents himself to his students as their
necessary opposite; by considering their ignorance absolute, he- justifies his own existence. The students, alienated like the
slave in the Hegelian dialectic, accept their ignorance as justifying the teachers existence—but, unlike the slave, they
never discover that they educate the teacher.

fefafag maia w7 g FfRTTT Iy FTITTRE.

META (RraA AeATIF MEATATZIATR) | FAITeff sreatiyd fFruz-aesg ST AT AT T @ ITIFIATE . o Argh araag e FFag
frarTHT T qrer A1 HgF A A ATE, R Teq7qF 93qv W@WAre. Frg AeqrfuF1 Rradr gofar @ STEgF FI AT ], FEITATEY
F=gt fFrfarsTgrdt . NraarRmagda sr{dgaead ST AT 3 U Rga s @y, agIaaret srsar faardtgrare.

FTAAFRIAATTF WSRO FTE FTATATE FTOF T IarefT AT g R TACTTIF HSTIHF G & . ASATIFH GATT FIA FTTAG MIAFTILH
aafaar TG ward shraeronswars ™3 frardT ddgdw ugo shrenenwearg shkegegerargars. ag farar#1 e sragror
2 Rrad g gruggs@ (s e sat gidt g g T eRaraift ST Tgw R, T9d 1398 MR 138 MA@, TgqH
g e SR ara AsTRa aTAINT FTEUTEF AAATFHFTLITR FTHTACEIATS. o stfan g ww, zo fyvafya worrst (srox aataa
TTH) § T FGIATHFAT, ST TITTTR STATT D AT G SqF F I HeTRa w1, FOfF g arasicarsaraa ea=w



Y AATH ATAT TSI G TARAT. FIT A=A T A TLT: AT TATHLST TN TA-TATH, AT T A TTHF AR F a7 FFFa o1 a1
TR, N, FAT A TAATATT AATT R ATETA R T ATAIHTLIATR.

TR S T AT T H ATTETF FIATATATAR AT ATHAT FTASAATHIT F 1 IIATHATR ATATTFH ST Ieg  AATATHTAA 8.
AU FT LU AATATATTAT, ST IATHT IAATATUFTINE, THFATEATATNFA D TR (AFUAIFTATT AR IATIATR. N8ATIH
AT aT9R @ FISTHRTAMTLTF I AATA TATFTICT FIATE; 578 LUId: AFTATATT FLTE AN T99 & aARaea wraf¥eafag
FLATR. EAARTGIATIHRTATYT A Fg a1 faarei s frgaara 1t wify sisaros 3 aRaca w1t g s@ gusradraam@arsT
TAFTEHFLAD §- [, STITT S (AT, SR AT FHTAATAG A ATATE T F SreqTah FTfAATHIT B

According to this passage, knowledge must be acquired through :
TH AT B ATAT ATT MAYTF €7 F 59 afsra Frar srarm =rfga?

[Question ID = 602][Question Description = S2_qSNz_PG_EDU_Q59]
1. Transfer of content by knowledgeable to less knowledgeable/sTT =1fxF FIT ST=HT &1 foro=r-aeq & siqwor & ATeaw 7

[Option ID = 2405]

2. A process of inquiry about content/farua-awg & ¥ H U AqHTT THT F HTAT T
[Option ID = 2406]

3. Mechanical memorization of the content/farerr-a£q 1 FTEF =7 & AT FIA F ATEAH T

[Option ID = 2407]
4. Receiving, memorizing, and storing content/3RIg, T & fEwg-a%q W=Te0 & ATeaw 7

[Option ID = 2408]

Correct Answer :-
e Transfer of content by knowledgeable to less knowledgeable /=TT =<k FTT SI=TTHT FT fErw=r-a%q F aew & ATeaw T
[Option ID = 2405]

5) Read the paragraph given below and answer the question that follows

Narration (with the teacher as narrator) leads the students to memorize mechanically the narrated content. Worse yet, it
turns them into "containers,"” into "receptacles” to be “filled" by the teacher. The more completely she fills the receptacles,
the better a teacher she is. The more meekly the receptacles permit themselves to be filled, the better students they are.

Education thus becomes an act of depositing, in which the students are the depositories and the teacher is the depositor.
Instead of communicating, the teacher issues communiques and makes deposits which the students patiently receive,
memorize, and repeat. This is the "banking” concept of education, in which the scope of action allowed to the students
extends only as far as receiving, filing, and storing the deposits. They do, it is true, have the opportunity to become
collectors or cataloguers of the things they store. But in the last analysis, it is the people themselves who are filed away
through the lack of creativity, transformation, and knowledge in this (at best) misguided system. For apart from inquiry,
apart from the praxis, individuals cannot be truly human. Knowledge emerges only through invention and re-invention,
through the restless, impatient, continuing, hopeful inquiry human beings pursue in the world, with the world, and with
each other.

In the banking concept of education, knowledge is a gift bestowed by those who consider themselves knowledgeable upon
those whom they consider to know nothing. Projecting an absolute ignorance onto others, a characteristic of the ideology)of
oppression, negates education and knowledge as processes of inquiry. The teacher presents himself to his students as their
necessary opposite; by considering their ignorance absolute, he- justifies his own existence. The students, alienated like the
slave in the Hegelian dialectic, accept their ignorance as justifying the teachers existence—but, unlike the slave, they
never discover that they educate the teacher.

fawfafag meia «7 ug s fRg g o FTI9TR.

AEATH (FEH sreaTId eATATEIAT8) | Framadtsrear AT v arg I A HF ET@ ITeFATE . oA AT O araage foag
raTdTH T a1 ITEIF B IIAqT7S, 8 AEqTIF ‘AIq7 AT FIS AeATAFT I Quiar & STagF FI9ALd 18, IgSaAT gl
Tt frfamTgrdte. SraarRmagd s FrEdgaead TR AT 3 [ATRTIFATE, TEITATRT sr=sa@T frarof T grare.

TATFTIAATCF AU FTE FAATAT 2 Forad FaramedT AT g A TALATIF HSTH G 3. ASATTH AT FLA 61 TG ATARTICH
refaat arhweare st wereuFTars e faardT ddqdwm g e enTnw1are shTgguargars. 7 frar T & fHr stagro
& Rrad g g gg s F T (A e sadrgrdt g PR AeRaraift ST Tgw R, T9d 1398 R A ISq A qMA HI@. TgqH
g Preaad gra weia@arafl s TEugF AT gNFIT ATAgacgrare. g e faa Rgwnd, s fxvafyg yurdt (eraa gafaw
7)) H ATFGIATFAT, TN AT AIATTR AATA D ATEATE T4 FI T HSTIT FLRATR. FA I Th AqF AT AT FAvqra a8 g =afw
g AATH ATTTAZTGTAFAT. BT AA T A LT: A TA IATHALST FIA SN TA-FIATAH, ATAF-TAT M TCF AR F 97 F7a 1 a198
TR, AL, AT A LAATATT AATU S ATETA R I ATTIT ZIATR.

fararar SR AT d FTATd FTATH AT T ARFAT grasTATHFA F RITIR arAarTH 3w R o 9 AT AT 8.
TEU RGO ARTATATTAAT, T IAAR FAFATLLTTIRTANE, THATHATATRAD TTH (AU IATART AGATATIATE . reqT0H
FFTfIa & qT9R @ FISTHRT AT IIAATA TATFTICTT FIATE; 578 LU d: ATTATATT FLTE AN e99 & aARaea arafyeafog
FLATR. GAARTGATIHTATYT A Fg a1 fa=rei s @ ara a1t wify stsarosw 3 aRaca w1ty frg s gusradtraam@arsr
TAFTLHLAD &- [, STITT S (AT, SR AT FHTAATAG AqATAT T F sreqram F1fAAWHII 3.

The main criticism of the banking system of education is :

farar 71 ST TuTAT T LT AATIATE ¢



[Question ID = 603][Question Description = S2_qSNz_PG_EDU_Q60]
1. Emphasis on memorization/®A70T 9% g1

[Option ID = 2409]
2. Process of knowledge transfer/sTe Sq0 ToH
[Option ID = 2410]
3. Not developing individuals as human beings/=fxrt 1 Aqex & &7 § fa=fea 72t #21

[Option ID = 2411]
4. Treating students as slaves/f@=mfs=i 7 T &t 938 =T=g™ FAT

[Option ID = 2412]

Correct Answer :-
® Emphasis on memorization/¥¥T 97 I

[Option ID = 2409]

Topic:- Education_SH2_SHAAN_NOV21C

1) Read the paragraph below and answer the question that follows

NEP leads with three radical changes that will bring much-needed relief from the tunnel vision of restricted student
potential. The first is the exit and re-entry of students in universities. We all live with uncertainty- but this should not be a
reason to lose out on one’s degree. Combined with the ability to transfer credits across universities, this gives true freedom
to students to find their best fit. The second is multi-disciplinarity, across schools and higher education. Students can choose
any subjects, all subjects are equal, and the concept of streams has been disbanded. This truly frees up students to work to
their talents rather than to an administrator’s diktat. The third is the flexibility given in board exams. Again, more choice,
more chances to get it right. This is to support students to be their best selves in a way that had not been enabled before.
NEP has also recognised the urgency of foundational learning and upgraded it to a mission. There are many other things that
NEP gets right, such as focus on teacher training for schools, the fund for educating girls, and the freedom for university
course length, among others. Creating a framework for teachers to only teach and not co-opted for other duties is good, as
is the emphasis on supporting the less able. The intent is to breach gaps that have been untended for too long. There is so
much to be said and done here, and it is already too little too late - but every effort mut be appreciated. The challenge is
to get it right.

fufafas merta F1 oz FTfRTTT T3 FTITT R,

T Y § O s aicgdqt T weard & F1 wfvs g gra gaqr F7 dfof -gf¥ F sregracaw g wg=TCAT AT,
frafremast & gra 1 fAETa T g @a § g7 aw afafHaar s ara g §- afew ag 5T w1 st surfy @ IR w1
HTHTIW A51 19T AT Frafa=mraat & ke 3 dq000 F1 FTATATS 97T, I FTAL F1 ITHT GIA ToT STLHAT GISTH
FTAYT ETATATIAT § AT, GHET fAaraat sy 97 a1 I ag-Rvasca & gra 5t «t g 1 g7 997 §, a9t fFox
AT G, T GTTTA AT ATLTIAT T GATH FEATTATE A5 AT ATAT & FIAT FT TH TATHF B AQATIHT F7F FA

FT TATT ITRT AT AfAATgaE FTTFW 3 g gw sarg dawn, O 7har d fRgrararastarmT g afys faey, s
T #3q & fg aif¥rs d9rad a8 FTF FT T IR ATAT IR E ITH A A GEILT AT o4 Tga w1 781 Fharwar 471
TAEYT T ST T AFHATH 7 ArewTirsar F1 AT AqAT ST g AW A A FTFT feg1d Fsarrid § oo € v & 9T
frerdt §, o9 i areg At & 9t ATy fAEraat & oo fraw wfrww g aw , arfosrsy w7 fafyg w9 & oo fafy st
frafemas arsaww aeATa iy T TATAAT LT STAT AATT FIAT TGT FAAFT FT TTT HEATIT FTHTH &7 A S5 AT FTATA T
AATATATY , TH A>T A7T 3 AT YHT T A= A7d (7 qA ATHIT F1 A TTATTIAT  HINAATT § ST GILAT HT AT 7
T AT FHT @ eqTH AT fRATTATE T Fg1 AMLFEA I AT Iga 138, MNIT A A T IgT FH HIIGTIILA §aATR -
IEE T F TATH %1 74 a1 &1 ST 1y Ffgy [atdt 75 & 5 38 Siw @ frar sy

Which of the following is not under radical changes?
frafafea & @ s17 a7 s vhadaf 3 saia 781 g ?

[Question ID = 604][Question Description = S2_qSNz_PG_EDU_Q66]
1. Exit and re-entry of students/= = FT AT ST T warer

[Option ID = 2413]
2. Multidisciplinarity/agfarrasea

[Option ID = 2414]
3. Incentivizing teachers/fererhi T ST 3T

[Option ID = 2415]
4. Flexibility/a=frama=

[Option ID = 2416]

Correct Answer :-

e Exit and re-entry of students/=Tat & fAFTH 3% q: warer
[Option ID = 2413]

2) Read the paragraph below and answer the question that follows

NEP leads with three radical changes that will bring much-needed relief from the tunnel vision of restricted student
potential. The first is the exit and re-entry of students in universities. We all live with uncertainty- but this should not be a



reason to lose out on one’s degree. Combined with the ability to transfer credits across universities, this gives true freedom
to students to find their best fit. The second is multi-disciplinarity, across schools and higher education. Students can choose
any subjects, all subjects are equal, and the concept of streams has been disbanded. This truly frees up students to work to
their talents rather than to an administrator’s diktat. The third is the flexibility given in board exams. Again, more choice,
more chances to get it right. This is to support students to be their best selves in a way that had not been enabled before.
NEP has also recognised the urgency of foundational learning and upgraded it to a mission. There are many other things that
NEP gets right, such as focus on teacher training for schools, the fund for educating girls, and the freedom for university
course length, among others. Creating a framework for teachers to only teach and not co-opted for other duties is good, as
is the emphasis on supporting the less able. The intent is to breach gaps that have been untended for too long. There is so
much to be said and done here, and it is already too little too late - but every effort mut be appreciated. The challenge is
to get it right.

frerfafaa meria #1 g FTRTTT w39 FTITCE,

T E 91 # OF s afgdqat #1wEard g O wivs fag gra guar At G0l -gf¥ | qeAraeqF AT TgA@I  Ig4qw,
frafyemast & gra &1 fAs@ @i g @a g g7 awt afafaar s ara A §- afew ag B w1 saft sarfy @ 9 f~m s
HTHTIW TE1 19T AT Fraf=mast & e 3 A7 F7 FTAWATS AT, T FTAL FT ITHT AT T STLHAT GISTH
FTAGT ETTATAT IAT § AT, GAET fAaraat sy 57 forar }q ag-Rvasca & gra 5t «t fFrog 1 g7 957 §, a9t fox
ATT &, AT GIITA FT ATGTIOTHT AATH FIATTAATE IT AT ATIT & FIAT HT T TATAF B A AT F1F F:A

FT IATT IAFRT AYAT TIAATIATR FTH FA & g gw F@r g g, a0 q0ar | fegraar ahiarea g ofys fFaweT, @
T w<q @ fag af¥rs d9ramd a8 FT1 T T TR ATAT TR E TTH A A GEILT IATE o4 T8 w1 71 Fparwar 971
ALY F s AfyTH & arewTirFar FT AT ATTIAT A AW UF AT FTET A1 Fsarr ASF E s ga € v/ 9T
fredt &, o9 O =g AT & a1 -y fAaraat @ oo fraw wfdvaw g aw , arfasrsd w7 fafag 59 & fog fafy st
frafaray arersw auTafy §T SETAT AT AT IATTHIATSGT FAART F7 A7 ALATIT FTHTL T AT IR AT FIATA 7
FATATATY , TF A=GT I77 3 AT AT T A= A77 § (7 gy AFFHAT 11 AT TXATRAT  HIANTT § ST @17AT 4 97¢q°7 Forey
TR AFS THT G T 5L [IATTATE TGT Fgd AL HFHA & (AT TET RIS 7, AL AT IEA 4 g1 AgA FH ML AEA AL H §A B -
U TA® TATH T qAaT 7 JA147T A1RY 1Ry TArdT 75 § % 38 s | frar g

Which of the following is a wrong statement?

frafafaa d @ STT 97T Fa7 AT 2?2

[Question ID = 605][Question Description = S2_qSNz_PG_EDU_Q67]

1. Credit transfer will give freedom to the students/#T& FaTu F FTHT HT Faa=rar AT
[Option ID = 2417]

2. Students can choose any subject within a discipline/zm= fa=ft «f faorr #1 v "= § & 77 7% &
[Option ID = 2418]

3. Disciplinary boundaries will be broken/fare=rra =#Td F#Te 2T SITU(T

[Option ID = 2419]
4. Foundational literacy is an utmost urgency/ & HTETAT ead AMALTF §

[Option ID = 2420]

Correct Answer :-
e C(redit transfer will give freedom to the students/®T& dq¥orT & AT FT Taa=raT (oAt
[Option ID = 2417]

3) Read the paragraph below and answer the question that follows

NEP leads with three radical changes that will bring much-needed relief from the tunnel vision of restricted student
potential. The first is the exit and re-entry of students in universities. We all live with uncertainty- but this should not be a
reason to lose out on one’s degree. Combined with the ability to transfer credits across universities, this gives true freedom
to students to find their best fit. The second is multi-disciplinarity, across schools and higher education. Students can choose
any subjects, all subjects are equal, and the concept of streams has been disbanded. This truly frees up students to work to
their talents rather than to an administrator’s diktat. The third is the flexibility given in board exams. Again, more choice,
more chances to get it right. This is to support students to be their best selves in a way that had not been enabled before.
NEP has also recognised the urgency of foundational learning and upgraded it to a mission. There are many other things that
NEP gets right, such as focus on teacher training for schools, the fund for educating girls, and the freedom for university
course length, among others. Creating a framework for teachers to only teach and not co-opted for other duties is good, as
is the emphasis on supporting the less able. The intent is to breach gaps that have been untended for too long. There is so
much to be said and done here, and it is already too little too late - but every effort mut be appreciated. The challenge is
to get it right.

frefafa reria #1 g TR TT w39 FTITTE,

T E 91 # OF s afgdqat #71wEara g 1 wiws farg gra gaqar At G0t -gf¥ | AeAraeqF AT TEA@ IFAT,
rafremast & gra #1 fEa T g o g g7 aw afafHaar s qra g §- a e ag 5T w1 st sarfy & I w1
HTHTIA A1 19T AT Fraf=mmaat & ke 3 A7 F7 FTATATS AT, I FTAL FT ITHT GIA ToHT STLHAT GISTH
FTAYT EFATAT IAT § AT, GHET fAaraat sy Sg a1 yq ag-Rvasca & gra 5t «t g 1 g7 997 §, a9t fvx
qATA G, SN GTITSA AT ATLTLATHT GATH FGATAATE A AT ATAA | GTAT HT TH TATHF & AQATIAT H1F HA

FT AT ITHT A7 wfrwrga FToFW 3 g gw sarg dawn, O 7har @ fRgraarastarmT & afys ey, i
T #1 & fg af¥rs daramd a8 FTHF FT T TR ATAT IR E TTH LA A GEILT IATE o4 qga w1 781 Fparwar 971
TAEYT F ST AfFTH 7 areFTiAFaT FT AT ATTIAT SN AR UF AT FTETRA7@ FE e AiSF E v ga € v ® 9T



fradt §, o9 T e Atstr & 9t "y fAaraat & oo fras wfvgw geaq , arfasrss w1 fafyg 539 @ oo fafy st
Frafraras arersw guarafy T w970 AT STAT AITTFIAT TGT FAART FTATT ALITIT FTH1H g7 AT I7g AT FIATR 7
AATIT ST, TF AT ATq 3 M LA Y (=T A77 § o7 a7 A®AT F1 AT qXATRAT 9w § 377 @At 71 wAr o7
T AT GHT @ &qTH AT fRATTATE Tl Fg1 ALFEA I AT Iga 73 8, MNIT TRA A T IETFA AL IGI IR GaATR -
X TAF TATH &1 FAAT F 7 JATHT AT A1fRY AT a8 ¢ % 38 St | g g

Multi-disciplinarity will be ensured-
Fg-fawasea =1 gfvfaa frar -

[Question ID = 606][Question Description = S2_qSNz_PG_EDU_Q68]
1. Across school education level /T8 fa=merfia fore s 7@
[Option ID = 2421]
2. Across higher education level/maw 33 foraar = o
[Option ID = 2422]
3. Across technical education level /a9eT TaeT=ht farerT &< 9T

[Option ID = 2423]
4. Irrespective of Levels of Education/faraT & ¥ &T ea1e ¥ 717

[Option ID = 2424]

Correct Answer :-
e Across school education level/aa&r fErameri= forem =%
[Option ID = 2421]

4) Read the paragraph below and answer the question that follows

NEP leads with three radical changes that will bring much-needed relief from the tunnel vision of restricted student potential. The first is the exit and re-
entry of students in universities. We all live with uncertainty- but this should not be a reason to lose out on one’s degree. Combined with the ability to
transfer credits across universities, this gives true freedom to students to find their best fit. The second is multi-disciplinarity, across schools and higher
education. Students can choose any subjects, all subjects are equal, and the concept of streams has been disbanded. This truly frees up students to work to
their talents rather than to an administrator’s diktat. The third is the flexibility given in board exams. Again, more choice, more chances to get it right.
This is to support students to be their best selves in a way that had not been enabled before. NEP has also recognised the urgency of foundational learning
and upgraded it to a mission. There are many other things that NEP gets right, such as focus on teacher training for schools, the fund for educating girls,
and the freedom for university course length, among others. Creating a framework for teachers to only teach and not co-opted for other duties is good, as
is the emphasis on supporting the less able. The intent is to breach gaps that have been untended for too long. There is so much to be said and done here,

and it is already too little too late - but every effort mut be appreciated. The challenge is to get it right.
faafafaa Tata Fr g FTRTTTTT HTITCE,

TAE T & 19 A TRATAT FTIEATT @ F7 A7 (4T FTT qUATHT G600 -g¥ | sreqragqs gd vgArgaw wgar, Frataarast 9 grat w1 fawma stz
q: WA g A AT Affaar  wra A7 &- AT a5 Frdt 7Y saF Irfr @ 45w R FTFTw At At Ay Rrafyaat @ e 3 daeo s @
FAATH AT, TZFTAT FT ITHT qIQ AT ITLHAT @I #1 GT TAGAATIATE A, GAEF fyaragt sk sy forar g ag-Rwasa g gra et o
fRAvr FrgTaed §, a9t Awg aur &, AT 1A AT AT RTGATH FIRATAATE AZTASTATIRN | FIAT FT T TATHF F AR ATTAT T4 FIR

FT FATT ITAHRT ATAT TIAATTHAT FTHFA 3 FAT T FLATR A, 1€ 70977 fearwarasargs 2 afys fawey, stxagdt s 3 e afys
FATTATE T FTAT T T THTI HIAT A TCHE TTH I & FEIATIATE A TR AT 7T AT 77 47 ALY ¥ 0o @ iy 71 qreawriwar #71 «#7
AT E AT UF Fraa F1E7faard s asr fiS € Truga € 7 7 ag) fuyadt &, 8 0 awg e 2 ara -arg gt 3 o s sfrgwacas
, arfwTs w1 fArfrg w77 @ fog iy s Rrafemas orsass waarafy 3g sad=ar Yattar damTFIATIET g+t FY A7 AeqrqT T 574 g1 {HTI77
FETFTITR T ACAT Y, TF A5t 77 & AT YT gY sr=aft 919  orew wow FfRegt Ay Az g dar afywra & 37 @l &1 wear fora veae? w717
q eqTA gt AT AT E Tl Fg AFW F MU AgT [ S, AVTTIEA A T AGTF A MTATTAICE A - T TR T TATH H T TAFT &1 ATAT 1YY
F1fgr AT g8 M 3@ A5 @ frar Ty

Which of the following statements is not wrong?
frafafagad @ FITATHFITTATAST R ?

[Question ID = 607][Question Description = S2_qSNz_PG_EDU_Q69]
1. Greater possibility for relief from the tunnel vision of restricted student potential/wfa=ferd gr=r erwar it whif 32 & g & oy sifers dwraar

[Option ID = 2425]
2. Restricted possibility for relief from the tunnel vision of restricted student potential/Sfa=fara ==t ermaT T T 32 F wrga & forw wfi=fea ssmae

[Option ID = 2426]

3. Choice-based possibility for relief from the tunnel vision of restricted student potential/faa & g eraar T "ol 3f® & wea & forw ey srefea
ERIEET
[Option ID = 2427]

4. No possibility for relief from the tunnel vision of restricted student potential/Sfa=fara =r=r erwar &Y Hhivf 32 & wrgaq & forw #rg dareaar 78 & |

[Option ID = 2428]

Correct Answer :-

e Greater possibility for relief from the tunnel vision of restricted student potential/sTa=era g1 erwar & &@hit g2 & Trgd & for stfer e
[Option ID = 2425]

5) Read the paragraph below and answer the question that follows



NEP leads with three radical changes that will bring much-needed relief from the tunnel vision of restricted student potential. The first is the exit and re-
entry of students in universities. We all live with uncertainty- but this should not be a reason to lose out on one’s degree. Combined with the ability to
transfer credits across universities, this gives true freedom to students to find their best fit. The second is multi-disciplinarity, across schools and higher
education. Students can choose any subjects, all subjects are equal, and the concept of streams has been disbanded. This truly frees up students to work to
their talents rather than to an administrator’s diktat. The third is the flexibility given in board exams. Again, more choice, more chances to get it right.
This is to support students to be their best selves in a way that had not been enabled before. NEP has also recognised the urgency of foundational learning
and upgraded it to a mission. There are many other things that NEP gets right, such as focus on teacher training for schools, the fund for educating girls,
and the freedom for university course length, among others. Creating a framework for teachers to only teach and not co-opted for other duties is good, as
is the emphasis on supporting the less able. The intent is to breach gaps that have been untended for too long. There is so much to be said and done here,

and it is already too little too late - but every effort mut be appreciated. The challenge is to get it right.
faafafaa Tata Fr g FTRTTTTT HTITCE,

TAL AT F A7 v afkadal FTEATa g 7 afwS o grx @wwarFY ddol 3 { scxragaw g wgArQAT wgAr, eafyaradt F gt w1 fAwrw st
q: vAw g gH AT Afafraar # qra sia §- afwT 78 f5at o1 996 surfer @ 4fa 5@ sreew gt rararfye Frafyareat @ Rk § saeuws@ @
FAATH T, AF FTAT FT ITHT qIQ AT ITLHAT @I #1 FT TAGAATIAT] A, GAEF fyaragt sk sy rar g ag-fRwasa g ara et &
fAvr FT T a7 &, a9 FAwg au1a , AT TR FT AT FTIATH FIRATAITE AT ALTATIN A FTAT FT T TATHF 3 A ATTAT FTF FLH

FT TATT ITHT ATAT TIAATTHAT FTHFA 3 FAT AT FATR AT, a1 70717 fearvar a=fares 2 afys fawey, sixagdt sa7 & e afys
HATTATE T FTAT FT T THTI TIAT ATCHE TTH FIA & AEIATIATE AW TR FAT AT (AT 7AT AT CASHT 7 SWATAT HIYTH FT qUeawTiawar #7147
ATFAAT T E AT UF Fraa F1E7faard s asr fiS € Trga € 7 7 ag) fyadt &, & 0 aeg e 2 qara -arg gt 3 fHo ras sfrgwacas
, aTfwTa w71 fRrfdrg w7 & fag e s Reafremas wreasw aaarafy I Ead=ar Ta1 i 9T FITTFIATIGT FAAFT FTATT ASATITFTHTE g1 AT g
FT FTAT R T AATAT AT, TH AT A7 & AT YT g7 A= 79 § o7 a7 H ATFHIT FT 778 TTAVCIAT  FFATT & ST @TIAT FY AAT FH7 w0 e qA7
q eqTA AT AT AT E gl Fg AVFW F MU AgT [T S, AT IEA R T IGTF A MTATTICE A - T TR T TATH H T TAGT &1 1A ATRY
F1fgr AT 788 M 3@ A5 & frarsrg

Which of the following statements is not incorrect?
frafafgad @ FITFTFITIATAST R ?

[Question ID = 608][Question Description = S2_qSNz_PG_EDU_Q70]
1. Credit transfer will be done within Central Universities/#=1= fareafa=meat & siavta #fee saeor B s |

[Option ID = 2429]
2. Credit transfer will be done within State Universities/#f=e siawur oo farata=mert & siasta forar st |

[Option ID = 2430]
3. Credit transfer will be done within Central & State Universities/#{22 aw 17 T w57 fFeafa=met % siasta frar s |

[Option ID = 2431]
4. Credit transfer will be done within Universities & HEls/# =z siaeor frafEmmemt siv v= £ o & siaiq &= s |

[Option ID = 2432]

Correct Answer :-
e Credit transfer will be done within Central Universities/Fzt= frafemmeat & stastq #fse siazor far s |

[Option ID = 2429]

Topic:- GP_Set8_A

1) The table below presents the unit slaes of the ZZ999" Motorcyle in six European Countries
over a =ix month period from January — 2020 to June 2020. These motorcycles are imported
into each countrv by a main dealer. Based on the data in the table. answer the question :

Country — wise Sale of Motorcyles

Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 G0
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23

Total

What percentage (%) of the overall total was sold to the German importer?
(1) 22.0% (2) 25.4%
(3) 25.8% (4) 24.6%

fFrafefigs awell S 2020 § 59 2020 % #1 37 9% H 3@ @ S7 gOUE cw gRl ZZ999 #iEw
oEleme = s T (ghe 09 F e 2 9 geaEtEs T g Taar (S & T Ueae o o



JArfaa i1 A # | Gl § Wea AR SUR W U F 39

el S | AT | HIE | 3 | AR | 9 | &
34 | 47 | 45| 54 |56 |60
I% | 40 | 44 | 36 | 47 |47 |46
w1 37 32 | 32| 32 | 34|33
afesmm | 14 | 14 | 14| 16 |17 |14

= 29 20 | 28| 31 | 29|31
Bl 22 24 | 24| 26 | 25|23

1y 22.0% (2) 25.4%
(3) 25.8% (4) 24.6%

[Question ID = 2639][Question Description = Q1_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10553]
2. 2 [Option ID = 10554]
3. 3 [Option ID = 10555]
4. 4 [Option ID = 10556]

Correct Answer :-
e 1 [Option ID = 10553]

The table below presents the unit slaes of the ZZ999 Motorcyle in six European Countries
over a six month period from January — 2020 to June 2020. These motoreyeles are imported
into each country by a main dealer. Based on the data in the table. answer the question :

Country — wise Sale of Motorcyles

Country | January | February | March | April | Mayv | June | Total
Germany 34 47 45 54 56 G0
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Ttaly 22 24 24 26 25 23

Total

What percentage (%) of the overall total of motorcycles was sold in May?

1 241% (@) 25.6%
3 27.1% @) 17.8%

-~

Frafatas et s 2020 ¥ 59 2020 7% fi 97 mr H @t § 37 T g gE ZZ999 W
TISFheT =i U TSGRl (e Het) 1 S9Nl 2 | A Aot el qed Tashar (Sien) * gR1 oo 6w
SIS T A | AR H WA AR F AER W T I A

AT 34 47 | 45| 54 | 56|60
qF 40 44 | 36 | 47 | 47|46
w 37 32 | 32| 32 | 34|33

s | 14 14 |14 16 |17 | 14



e 29 20 | 28| 31 |29|31

wE HIE # W= TS Fe AT Wi ;1A

(1) 24.1% (2) 25.6%
(3) 27.1% (4) 17.8%

[Question ID = 2640][Question Description = Q2_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10557]
2. 2 [Option ID = 10558]
3. 3 [Option ID = 10559]
4. 4 [Option ID = 10560]

Correct Answer :-
e 1 [Option ID = 10557]

3) The table below presents the unit slaes of the “ZZ999" Motoreyle in six European Countries
over a six month period from Januaryv — 2020 to June 2020. These motorcycles are 1mported
into each country by a main dealer. Based on the data in the table. answer the question :

Country — wise Sale of Motorcyles

Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 G0
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Ttaly 22 24 24 26 25 23

Total

Which month showed the biggest increase in total sales from the previous month?
(1) February (2) March
(3) April (4 May

-~

Frafatas et s 2020 ¥ 59 2020 7% fi 97 mr H @t § 37 T g gE ZZ999 W
TISFheT =i U TSGRl (e Het) 1 S9Nl 2 | A Aot el qed Tashar (Sien) * gR1 oo 6w
SIS T A | AR H WA AR F AER W T I A

B
i
]
i
4
A
-
3

AT 34 47 | 45| 54 | 56|60

9% | 40 | 44 | 36| 47 |47 |46
w| | 37 | 32 |32 32 34|33
sfesmm | 14 | 14 | 14| 16 |17 |14

=i 29 20 | 28| 31 | 29|31
Bl 22 24 | 24| 26 |25 |23

o w1 Tl fractt a it foefit Fi gom 1 oatiys afg =i 27

(1)  wEh 2 ==
(3) = 4

[Question ID = 2641][Question Description = Q3_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10561]



2. 2 [Option ID = 10562]
3. 3 [Option ID = 10563]
4. 4 [Option ID = 10564]

Correct Answer :-
e 1 [Option ID = 10561]

4) The table below presents the unit slaes of the ZZ999 Motorcyle in six European Countries
over a six month period from Januaryv — 2020 to June 2020. These motorcycles are Imported
into each country by a main dealer. Based on the data in the table, answer the question :

Country — wise Sale of Motorcyles

Country | January | February | March | April | May | June | Total
Germany 34 47 45 o4 56 G0
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23

Total

In the month of February, what percentage (%) of the monthly total was sold to the biggest

importer?
(1) 24.7% (2y 23.1%
(3) 36.5% (4) 51.1%

~

fferiEa Aroll st 2020 @ 99 2020 9% 1 ©F W9E i EE 0 98 g gon g ‘ZZ999° A
TrEtEe F o SRl (I Te) F g 2 | A AeEEtha e geE e (Sen) F g oo o
ST T A | AR H Wgd ATHS] F AER W T I G

SHAl | 34 | 47 | 45| 54 | 56|60
I | 40 | 44 | 36 | 47 | 47|46
wE | 37 | 32 | 32| 32 | 3433
afesm | 14 | 14 | 14| 16 | 17|14
= 20 | 29 | 28| 31 |29 |31
el | 22 | 24 | 24| 26 | 25|23
et

W W A HEH A% SAFAHAT i Fel MU AT S e Sfaed s T v

(1) 24.7% (2)y 23.1%
(3) 36.5% (4) 51.1%

[Question ID = 2642][Question Description = Q4_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10565]
2. 2 [Option ID = 10566]
3. 3 [Option ID = 10567]
4. 4 [Option ID = 10568]

Correct Answer :-
e 1 [Option ID = 10565]

5) The table below presents the unit slaes of the “ZZ999° Motorcyle in six European Countries
over a six month period from January — 2020 to June 2020. These motorcycles are imported
into each country by a main dealer. Based on the data in the table. answer the question :

Country — wise Sale of Motorcyles

F 3 PO P TRy TR s s L | TR L i | A W SRR T | Y . | | A e | R S g [ 3 PRI |



AAWLILL Y | Ydalliddl )y ([ A EMLWALY | Avidallell | SRR AL [ AVEALY
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23
Total

What percentage (%) of the total imports is accounted for by the three smallest importers?

1  37.1% (2) 14.8%
(3)  40.0% 4) 352%

~

frferiga ARl St 2020 § 99 2020 9% 1 ©F HE H A 0 98 gidE go g ‘ZZ999 At
wisther i v fsEhl (I Aet) #1 Sl 2 ) 3 grewnetre i ge e (Sen) # grn uess om g
AT T A #| TR H WA ATRS] % HER W T I G

EEs 34 | 47 | 45| 54 |56 |60
1% 40 | 44 | 36| 47 |47 |48

37 32 (32| 32 |34 |33
14 14 (14| 16 |17 |14
29 29 [ 28| 31 |29 |31

IETETE

1  37.1% (2 14.8%
(3  40.0% 4) 35.2%

[Question ID = 2643][Question Description = Q5_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10569]
2. 2 [Option ID = 10570]
3. 3 [Option ID = 10571]
4. 4 [Option ID = 10572]

Correct Answer :-
e 1 [Option ID = 10569]

Topic:- GP_Set8_B

1)

What is the name for the type of checklist or rating scale that expresses criteria on some
point-scale to determine the guality of the performance of a student?

(1) Diffusion (2) Rubrics

(3) Track system (4) Deduction

v faenefi % o famm  fom amevsl # s e I @ Faio w e 9w e

(1)  Tamm @) =fgF
(3)  FH-ToEm 4) T

[Question ID = 2684][Question Description = Q06_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10733]
2. 2 [Option ID = 10734]
3. 3 [Option ID = 10735]
4. 4 [Option ID = 10736]

Correct Answer :-
e 1 [Option ID = 10733]



2 . : . .
) What 1s the name of the mental process that assists learners to reflect on their thinking by

internalizing, understanding, and recalling the contact to be learned?

()] Meta cognition (2) Rubrics
(3) Peer tutoring (4) Debriefing

H WAMGF WA F AW TR A A, TEvat, S f T 9l FeE-aeg F T &
g Toamedt =t w9 o famedl o oergan w2 7

(1)  sAfaEae (2) =
(3)  mHwa sEfmam (4) =fEma ST =
[Question ID = 2685][Question Description = Q07_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10737]
2. 2 [Option ID = 10738]
3. 3 [Option ID = 10739]
4. 4 [Option ID = 10740]

Correct Answer :-
e 1 [Option ID = 10737]

Given below are two statements :

Statement I: In free version of google meet (through vour personal Gmail / Google account)
vou can record your session / class.

Statement II: To join an online class / session conducted via Google Meet yvou need to login
to your Google account.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect
(3 Statement I 1s correct but Statement II is incorrect
(4) Statement I 1s incorrect but Statement II is correct

F (D) : T U2 F A 3 (e S St g wEEE F gE A w9 w5 e =

T # |

FH (ID : "]_"'IFI' .q’:l;! T Hﬂﬂ%‘lﬁ T ﬂ-|‘:|(—.,.|-|3:[ ,—;r-,gq-[lla'm ﬁ = -.R—..[ -,F, %v 29 :'l ﬂ'EF-[ '[‘ o] THRI3Z '_ Tl
T3 T F T 12541 2 |

ST FAA F A H, A= G0 T i § # e ST I B T A

(1) #9901 5A g4 2 |

(2) w1 3F 5 =4 & |

(3) w1 4A 2, @i FeF IL7ed ¢ |

(@) Fo [ 2, At Fee a2

[Question ID = 2686][Question Description = Q08_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10741]
2. 2 [Option ID = 10742]
3. 3 [Option ID = 10743]
4. 4 [Option ID = 10744]

Correct Answer :-
e 1 [Option ID = 10741]

Which of these decision traps pertain to personal gqualities?

(A) Frame blindness

(B) Overconfidence



(C) Taking shortcuts
(D)  Being unsystematic

(E)  Not keeping records
Choose the correct answer from the options given below :
(1) (A). B). (C) only (2)  (B.(C). (D) only
(3) (A). (C). (D) only (4 (C). (D). (E) only
Tt § 5 F9 FoE-um J9fFas o ¥ atad 27
(A  zFE-fT=Em
®B) -
(C)  wier AFTFET
(D)  F=EEEE B

(E)  fopTe 78 wa

= fau o famed @ © HE 39 w0 == il
) FaEA). B). (0 @ F ®). (©). D)

(3)  Fad (A). (C). (D) 4) Fad (C), (D), (E)

[Question ID = 2687][Question Description = Q09_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10745]
2. 2 [Option ID = 10746]
3. 3 [Option ID = 10747]
4. 4 [Option ID = 10748]

Correct Answer :-
e 1 [Option ID = 10745]

®) Match List I with List IT
ListI List IT
(A) Proprietary LMS (). MOODLE
(B) Open source LMS (IT) Google classroom
(C) Cloud based LMS (ITT) Black board
(D) Data collection and quiz (IV) Google form

Choose the correct answer from the options given below :

1 (A)-IV), (B)-ID). (C)-D). (D)-ID
(2 A-ID. (B)-IV). (O)-ID). D)-D
3  @-D. B)-1D, (C)-aV). (D)-IID)
(4 (A)-II). B)-I). (C)-(1D). (D)-(IV)

-1 % T g1 =1 faem =it

o A NN | pp—



SpE-L sEi-ll

(A) TR U UH U, O AL A TAL (g5H)
(B) YA OiF U, UH UH, (D) TTe FATEER

(C) =T3S 375 UF.UA.TE, (II) = =15

(D) =21 Geher HT fFas (IV) T HiH

Fr fo7 o oo 9 ® o I w w=e A
(1 (A)-IV), (B)-(III). (C)-(). (D)-(ID)
(2) (A)-(ID). (B)-(IV), (C)-(I1D), (D)D)
(3  A)-D. B)-D. (O)-@V), (D)-I1D)
4 (A)-II). B)-D. (C)-AD, (D)-AV)

[Question ID = 2688][Question Description = Q10_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10749]
2. 2 [Option ID = 10750]
3. 3 [Option ID = 10751]
4. 4 [Option ID = 10752]

Correct Answer :-
e 1 [Option ID = 10749]

6 i : : g B
) Scientific research has the ultimate goal of explaining any phenomenon by
(1) Conditional laws (2) Laws of uniqueness
(3) Laws of intuition (4) Laws of generalisation

FATE T = TE T 9t F w0 aaE A S, s  eaE 9 w5 2 7

() o e (2) wAtgdEaE = Fm
(3) 3% 79 w1 m (4) T

[Question ID = 2689][Question Description = Q11_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10753]
2. 2 [Option ID = 10754]
3. 3 [Option ID = 10755]
4. 4 [Option ID = 10756]

Correct Answer :-
e 1 [Option ID = 10753]

7)  Which of the following are true case studies?
(A)  Easy to generalize the findings
(B) Normally Selects one case for analysis at a time
(C) Highly quantitative in character
(D) Integrates different perspectives

(E) Adopts the most consequent approach to the particular

Choose the correct answer from the options given below :
(1) (A). (B). (C) only (2) (B). (C), (D) only

(3) (B). (D). (E) only (4) (C). (D). (E) only

Fretferfiam % 1 ST 3 A A A A7

(AY T = OO AT B



(B) HH=IAA] U HHY H U T S =he i #

(C)  Tomman 4 === ufwmmor = |

D) fafim wfoen = ot = 2|

(BE) fafae =q =ty smad suvm =1 sfee a2 |

S fou T fawedi § 8 w8 3w = il
(1) %4« (A), (B), (C) (2) F= (B). (C). (D)

(3) === (B). (D), (B) (4) Fad (C). (D). (E)

[Question ID = 2690][Question Description = Q12_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10757]
2. 2 [Option ID = 10758]
3. 3 [Option ID = 10759]
4. 4 [Option ID = 10760]

Correct Answer :-
e 1 [Option ID = 10757]

Identify the sequence of methodological steps in focus group research :
(A) Select a sample

(B) Prepare the focus group material

(C) Define the problem

(D) Decide the number of groups needed

(E) Prepare the mechanics of the study

Choose the correct answer from the options given below :

(1) (A, E). D). (©). (B) (2) (). (A). (D). (E). (B)

3  (B).(©). . D). E @ D.@A).(©).®.E
Tehfrgd Y7 W9 T FAHg A I @ F TeaH= H -

Q) vl =

(B)  dHfzd #9F ITEE A9E |

(C)  O9= =l TiHTe = |

(D) v TYE T H A0 A |

(E) #1599 Tomel A |



Fr= fzu v faemi 9 @ TR SR 9= Fifw

(1) (A (E). (D). (C). (B) (2) (C). A). (D). (E). (B)

(3)  (B).(O). A D). (E 4 (D). (A). (C). (B). (E)

[Question ID = 2691][Question Description = Q13_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10761]
2. 2 [Option ID = 10762]
3. 3 [Option ID = 10763]
4. 4 [Option ID = 10764]

Correct Answer :-
e 1 [Option ID = 10761]

Given below are two statements :

Statement I: Social scientists belonging to the verstehen tradition do not accept the idea of

predicting human behavior in mechanistic terms.

Statement IT: It is asserted that the main aim of social science research iz to promote

human understanding.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement II is false

(4) Statement I i1s false but Statement I 1s true

Hi= =1 w2 e o #

FoH ([):  =%d=A T O Tesig qEiS® 43 T=E=E) U6 8 5ET SIHE SEeEi % Een B =

FoA (ID) : 77 Fv==gd= Fa1 741 7 7 orias AgE Wy 3293 999 =19 F Mo 4T 7 |

L e 2 e e o e T o M L L o s e R B o e e B P e 2 L
(1)  FoF 1#n IaE & F |

(2)  ®u I %R I oM sme 2 |

(3) = [&ca 2, A o I 15 2 |

4y ¥ I 58 2, A 5o [ Ee 2 |

[Question ID = 2692][Question Description = Q14_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10765]
2. 2 [Option ID = 10766]
3. 3 [Option ID = 10767]



4. 4 [Option ID = 10768]

Correct Answer :-
e 1 [Option ID = 10765]

19 Match List I with List II
List I List IT
Concept Description

(A) Isomorphism (I)'  Use of both qualitative and
guantitative methods

(B) Triangulation (II) Premise that the simplest method is
most prefereable

(C) Principle of Parsimony (ITIT) A property of a population

(D) Parameter (IV) Similarity of structure

Choose the correct answer from the options given below :

1) A-@. B)-1D. (C)-1ID). (D)-IV)
(2)  (A-ID. (B)-(ID, (C)-AV), (D)-(D
(3)  (A)-(ID). (B)-(IV). (C)-D. (D)-AD
4 A-IV), B)-O. (C)-dD). (D)-ID

Ti-1 = w9 g=1-11 =7 e =fifse

il o111
(A) TETHEAHAT (@ T T THOTEEEE 2T g T e
(B) TrgsA (D) =aw a9 6 areas ugha aartas aig 2
(C) Favma =1 g (IIT) =7
(D) W= (IV) T it FAEAT

= T2 U ool 8 ° wEl IO 0 599 Hie

(1) (A)-(D). (B)-(II). (C)-(II). (D)-(IV)

(2) (A)-(ID), (B)-(ILD), (C)-(IV), (D)-(D)

(3) (&)-(I1I), (B)-(IV), (C)-I). (D)-(1D)

(4) (A)-(IV), (B)-(). (C)-(I). (D)-(I1T)
[Question ID = 2693][Question Description = Q15_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10769]
2. 2 [Option ID = 10770]

3. 3 [Option ID = 10771]
4. 4 [Option ID = 10772]

Correct Answer :-
e 1 [Option ID = 10769]

") na classroom, transforming verbal and non-verbal signs back into messages is known as
(1) Feedback (2) Encoding
(3) Decoding (4) Reverse communication
HET W T (F6 ) Wbl AU AUMTH (a8 ) Hehal B G591 § S FaeAal £
(1) wiqgfe (Frss) @) T (TS
(3)  Taerram (fe=mifen) (4) Taaifia wuw (fed Fegieem)

[Question ID = 2694][Question Description = Q16_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10773]
2. 2 [Option ID = 10774]
3. 3 [Option ID = 10775]
4. 4 [Option ID = 10776]

Correct Answer :-
e 1 [Option ID = 10773]



12 ; S o
) Perspective taking in communication supports

(A) Behavioural rigidity
(B) Openness

(C) Sharing of information
(D) Trust

(E) Secrecy

Choose the correct answer from the options given below :
§)) (A). (B). and (C) only (2) (B).(C). and (D) only

(3)  (C). (D). and (E) only (4)  (A). (C), and (E) only

TS | THUET TR (Eeiagd § 5 FREh S e B 7

(A)  =HIERTEE A
(B) g

(C) =W Fi "EEd

(D) Tavam
(E) T

= fau o famreal @ @ HE 3 0 == b
(1) === (A), (B) %t (C) (2) A (B), (C) 37 (D)

(3) @ (C), (D) =N (E) (4) = (A), (C) # (E)

[Question ID = 2695][Question Description = Q17_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10777]
2. 2 [Option ID = 10778]
3. 3 [Option ID = 10779]
4. 4 [Option ID = 10780]

Correct Answer :-
e 1 [Option ID = 10777]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  The positive feedback from the teacher is necessary to motivate students.

Reasons (R) : Continuous criticism of students is the best method to make them realize

positive outcomes in their pursuit of knowledge.

In the light of the above statements. choose the answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)



(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) is false but (R) i=s true

49 21 %99 20 70 2 ;v W 9F9E (Assertion A) % Y H offEd & @l T 9% FE0 (Reason R) %

=9 9

ATTFT (A) | o1l o TERTRE WU (Mg fieeas) FaidE S At w1 o s
7l 2 |

F1 (R) : fernfel i SER AEEAT FF [E L SEl § GHAEE T F HegE HH 6
Tamy fatg 21

I HUA % A §, 9 40 T fawea] § 9 GA 39 1 999 I

(1) (A) =1 (R) A1 & 2 =1 (R). (A) i ot =men 2

(2)  (A) #1 (R) 5HI &4 2 ot (R). (A) =i H&l =amen 72 2 |
(3) (AT ® = (R) w8 7 |

(4)  (A) ¥9E 2 A (R) 59 2|

[Question ID = 2696][Question Description = Q18_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10781]
2. 2 [Option ID = 10782]
3. 3 [Option ID = 10783]
4. 4 [Option ID = 10784]

Correct Answer :-
e 1 [Option ID = 10781]

14)  The sequence of the stages of communication process 1s :

(A) Level of acceptance

(B) Transmission of congnitive data
(9] Message reception

(D)  Understanding

(E) Reaction

Choose the correct answer from the options given below :

(1) (A). B). (©). D). (E) 2)  (B). (). (D). (E). (A)

(3 (C). (E). (D). (A). (B) 4 (B). (©). D). A). (E)

T WA H S F AT B

(A)  TiAmET (TFEEE ) # A

(B)  TOIAT (Fifaieg) AARS 1 O9



©  wm w (F ferm)

T

D) =g (wvswien)

(E)  wfafem

#r= fzu v faen 9 @ TR I = Fif

(1)  (A). (B). (C). (D). (E) (2) (B.(C)., D). E), &)

(3)  (©).(E). D). A). B 4) (B). (C). (D). (A). (E)

[Question ID = 2697][Question Description = Q19_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10785]
2. 2 [Option ID = 10786]
3. 3 [Option ID = 10787]
4. 4 [Option ID = 10788]

Correct Answer :-
e 1 [Option ID = 10785]

13) Match List T with List TT
ListI List IT
Type of communication Characteristic feature
(A) Network communication (I)  Formal and Planned
(B) Mass communication (I) Creates identity and unique dynamics
(C) Public communication (III) Inter — dependent relations
(D) Small group communication (IV) Anonymous audience

Choose the correct answer from the options given below :

(1)  (A)-ID. (B)-II). (O)-1IV). (D)-@)
(2) (A)-(IID). (B)-(IV), (C)-(D). (D)-(IT)
(3  @A-av). B)-O. (C)-a1). (D)-11)
@ A)-D. B)-1D. (O)-aID), (D)-IV)

i1 = = G111 =1 e Hifw

T giI-11
(A) 2T FER @ =TS a9 asEg
(B) = H=T (A i) D) = sF=a (wEsfefz) am wigm e
(gfh ST ) =1 fmfor Fear 2 |
(C) w@raseh F=n (ufec® FegiHeH) ({ID) ==ar=nisd gay (3wt feurswe fema)
(D) =7 =gz HER (IV) = A (AT After)
Hr= 23 o fameal O w9 3 =g i

(1)  A-ID. (B)-(I). (C)-AV). (D)-(D



(2)  (A-IID), B)-IV), (C)-(D). (D)-ID
3)  @-IV), (B)-@). (C)-(D). (D)-AID
4 @-D. B)-ID. (O)-(IID). (D)-(IV)

[Question ID = 2698][Question Description = Q20_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10789]
2. 2 [Option ID = 10790]
3. 3 [Option ID = 10791]
4. 4 [Option ID = 10792]

Correct Answer :-
e 1 [Option ID = 10789]

Sagun purchased a smartphone at 9/10%® of its selling price and sold it at 8% more than its
selling price. Her gain 1s

1 10% @ 12%

(3) 18% (4) 20%

TH A UF W FH 56 0 9o % 9/109 §rA W @i 991 36 30 (9 qod § 8% s W s |

THF A 2
1 10% @ 12%
(3) 18% 4y 20%

[Question ID = 2699][Question Description = Q21_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10793]
2. 2 [Option ID = 10794]
3. 3 [Option ID = 10795]
4. 4 [Option ID = 10796]

Correct Answer :-
e 1 [Option ID = 10793]

'7) It CHARCOAL is coded as 45164913, how will you code COALCAR?
(1) 4913413 (2) 6194314
(3) 3194416 (4) 4913416

7fz =z 9T # CHARCOAL %1 45164913 foman =, a1 COALCAR =i 58 wr foran smom?

(1) 4913413 (2) 6194314
(3 3194416 (4) 4913416

[Question ID = 2700][Question Description = Q22_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10797]
2. 2 [Option ID = 10798]
3. 3 [Option ID = 10799]
4. 4 [Option ID = 10800]

Correct Answer :-

e 1 [Option ID = 10797]

Looking at a photo of a man. Ravi said, ‘His mother is the wife of my Father's son. I have no
brothers and sisters’.
At whose photo was Ravi looking?

(1) His Cousin (2) His Son
(3) His Uncle (4) His nephew

el e A e T < A B e oM O R e T B T o L e D |

I - ‘_
i R S T N e I e e s oy



(1)  #19H == 9E /s (Fee) (2) =9 W=
(3)  HAH = (4) = FAT

[Question ID = 2701][Question Description = Q23_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10801]
2. 2 [Option ID = 10802]
3. 3 [Option ID = 10803]
4. 4 [Option ID = 10804]

Correct Answer :-
e 1 [Option ID = 10801]

Given below are two statements :

Statement I: If the interest on a sum borrowed for a certain period is reckoned uniformly.

then it is called compound interest.
Statement IT : The money borrowed or lent out for a certain period is called simple interest.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement IT is false

(4) Statement I is false but Statement II is true

f9 F #uE ffu T E

FE () : = feft smafa % fou ™ =0 w = 1 o oF 599 i 9w 2, 9 97 = Gwdig =

ET=EIG] ? |

e (ID) : et otarter = fora oy =i 72 1o smor 21 715 Sl HH ST wEerdl 7 |

IR T F ATAE H, T B0 0 e 5 ° "El 39 #1999 Hia
(1) =% L3k 2 509 & |

(2w [HAR I3 538 7 |

(3) =¥ I5A 2, difd w9 I 959e9 2 |

(4)  FuA I w2, e wue I aea 2 |

[Question ID = 2702][Question Description = Q24_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10805]
2. 2 [Option ID = 10806]
3. 3 [Option ID = 10807]
4. 4 [Option ID = 10808]

Correct Answer :-
e 1 [Option ID = 10805]

20) Match List I with List IT With respect to completion of sentences

Ti=+ T Taok-TFE



(A) The sum of first forty five natural (I 19

number 1s
(B) The least prime number is (I 75
(C) The total number of prime numbers (ITT) 1035

less than 70 1s

(D) On dividing 4150 by a certain number (V) 2
the guotient 1= 55 and the remainder
1s 25. The divisor is

Choose the correct answer from the options given below :

(1) (A)-(IL). (B)-(IID). (C)-(I). (D)-(IV)
(2) (A)-(IIT). (B)-(II). (C)-(IV). (D)-(I)
(3) (A)-(IIT). (B)-(IV). (C)-(I). (D)-(IT)
(4) (A)-(IT). (B)-(IV). (C)-(IIL). (D)-(I)

gT-1 % T gi-I1 =1 faers Sifaw, 58 wer Fifaw & e g e = |

Ercifl| T1-I1
(A) g TATHE THE T A E @O 19
(B) TEH DIF =g G | Im 75
(C) o | B &g WEAAT H Fel AT 7 | () 1035
(D) @weE 4150 =i el g=w @ 9 32 W aw 2

YRTFeT 55 3N 319 25 241 &, A 99 2
i fo T et § o wE I =Ee it
(1) (A)-(ID), (B)-(IID), (C)-(D). (D)-(IV)
(2) (A, B)-1D, (O)-aV), (D)-D)
(3) (A)-(II0). (B)-(IV). (C)-(I). (D)-(1I)

(4 (A)-(ID), (B)-(IV), (C)«(I1I), (D)-(D)
[Question ID = 2703][Question Description = Q25_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10809]
2. 2 [Option ID = 10810]

3. 3 [Option ID = 10811]
4. 4 [Option ID = 10812]

Correct Answer :-
e 1 [Option ID = 10809]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R) :
Assertion (A): The argument “Everything is nameable because it 1s knowlegable” is
fallacious.

Reasons (R) : There is nothing that is not nameable and I cannot find a place where,

because of the absence of the major term, the middle term is also absent.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

5y Brth (A and (B are correct and (B 12 NOT +he covrent evnlanatiom of (AY



s L A g A T T e e e i e e Tl TR P e RS S DA S T R - ot TN

(3) (A) is correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

4= 21 #ue fau U # ;v SATHEYE (Assertion A) % =9 4 Toifigd 2 T 3 % %7 (Reason R) %
"{—7'3[{-'! 3
A (A) % -7 A F AW A O & FiE 98 19 (AeseEa) 2 9 2

Y

I FUF F A 4, A4 A T fGwed § ° HeH 39T I H1 =E i

() (&) ¥ R) = T E AR R). (A) F = =

@ (&) @R ®)F TA F A (R). (A) FwA e w5 R
(B (&)= 2wl R) = T R

@ (A TE A 2 A ®) 7E R

[Question ID = 2704][Question Description = Q26_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10813]
2. 2 [Option ID = 10814]
3. 3 [Option ID = 10815]
4. 4 [Option ID = 10816]

Correct Answer :-
e 1 [Option ID = 10813]

22) Given below are two statements :

Statement I: The terms ‘true’ and ‘false’ apply to arguments.
Statement IT: The terms ‘true’ and ‘false’ apply to statements.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement I is true

Hr 2 FA R E

9 () : @R 3 TTed g a0 0] B A

Fu (D) : ‘@Al AR TAd 98 FAA 9 A B

T YA o AF 9, A= A T fagen § O wE 3= F =9 A



(1) A I I EH g 2 |
(2) w1 3R 24 a5 3 |
(3) = I 2, AT %9 [ A5 2 |
(4) T I HEe 7, e wud e 2 |

[Question ID = 2705][Question Description = Q27_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10817]
2. 2 [Option ID = 10818]
3. 3 [Option ID = 10819]
4. 4 [Option ID = 10820]

Correct Answer :-
e 1 [Option ID = 10817]

Given below are two statements :

Statement I: The fallacy of contradictory middle (viruddha) occurs in an argument when
the middle term is found both where the major is found and where it 1s not

found.

Statement II : The fallacy of contradictory middle (viruddha) is committed in an argument

when the middle term is found only where major term is absent.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I 1s false but Statement II is true

= = FyH 2w o #

FoA (I): et % o famg soar9y®@ 9@ 21 2 =@ =d 30 o foufaat 9 oFn S 2 - W9 '@ oA
Fo (II): TRE o 4 faog Fearam a9 21 2 99 7d o0 a1 a6l o6 98 95 9w |

IR FUF F AF ¥, A B fawen 4 9 w6 I wme i

(1) FE AR I = F |

(2 = I #HRr I EA 55 7 |

(3  ww Igm 2, S Fam I 50T 2|

(4w I 59 7, wireT wee ILaeg & |

[Question ID = 2706][Question Description = Q28_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10821]
2. 2 [Option ID = 10822]
3. 3 [Option ID = 10823]



4. 4 [Option ID = 10824]

Correct Answer :-
e 1 [Option ID = 10821]

24)  Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as
Reason (R) :
Assertion (A):  For Naiyayikas. logic is not formalized and divorced from existence.
Reasons (R) : Naiyayika's interest in logic is for finding out the truth about the existent
world, but not merely for finding out the instrument of thought for their
own sake.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
3) (A) 1s correct but (R) 1s not correct
(4) (A) 18 not correct but (R) is correct

9 2 ®u= fau v # v ATHEUE (Assertion A) % =9 ¥ Toifigg # & FHI 3 % %A (Reason R) %

= H
AR (A) FITE o+ FTEN, T ATHNSG FA T4 E a97 q7 Alaed ¥ fafes= w6 2 |
F07 (R) : T SR i w5 e [@va F 903 ® 9A @H ° 2, 9 T Fae 39 a0 e

fomm = @t = F A |
IHIE FUH F AA® H, Fr= A e et § ¥ g sugeE 36 H1 =9 i

(1) (&) ¥ R) 3A T E S R), (A) F1 = R

(2 (A) #i R) IA G B W (R), (A) Fi w946 2
(3) (A TFH 2 afF (R) 78 95 2

(4 (A=A T 2 (R) T R

[Question ID = 2707][Question Description = Q29_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10825]
2. 2 [Option ID = 10826]
3. 3 [Option ID = 10827]
4. 4 [Option ID = 10828]

Correct Answer :-
e 1 [Option ID = 10825]

Socialized medicine is not recommended because it would result in reduction of the over all
guality of medical care. In addition. it might well bankrupt the federal treasury. This is the
whole case against socialized medicine. “What 1s the conclusion in the above argument?

(1) Socialized medicine 1= not recommended.

(2) Socialized medicine would result in reduction in the overall quality of medical care.
(3) Socialized medicine might bankrupt the federal treasury.

(4) There are overwhelming arguments against socialized medicine.

HOISHa Hatg I SFEE FAl H Al 7 FEiE SHE (Ao HaT il TTgel el § g 2R | S5
HAlafr, 790 Hefa Tehm o foatfemn &1 S | 7 wEsEa et 1 g Tt 2 | 9w a6 o
o it
e 27

(1)  =Ersiepa sty i s 76 1 w2 |

(2)  THETET ST o THiweE S 5 e e | w5 e
(3)  =uTEA sty ¥ e T e = s |

(4)  TATEA Sy F foEg TeeEE 9% fgm o

[Question ID = 2708][Question Description = Q30_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10829]
2. 2 [Option ID = 10830]
3. 3 [Option ID = 10831]
4. 4 [Option ID = 10832]

Correct Answer :-



e 1 [Option ID = 10829]

26) : : . . .
‘With respect to Computers, which of the following groups consists of volatile memory only?
(1) RAM and Pen Drive (2) Hard Disk and ROM
(3) RAM and Cache (4) Cache and ROM

FOAZL F TG § G 3 F F9 91 THF Fael diense gAA w87

(1) 9 39 =g (2) =S foes i Oy
(3)  m i FW 4) w3 im

[Question ID = 2709][Question Description = Q31_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10833]
2. 2 [Option ID = 10834]
3. 3 [Option ID = 10835]
4. 4 [Option ID = 10836]

Correct Answer :-
e 1 [Option ID = 10833]

27 ; : A g
) Identify the correct order of the following INTEL processors in the decreasing order of speed.
(A) 80486
(B) 8085

(C) Dual Core

(D) Pentium - IIT

Choose the correct answer from the options given below :
() (D). (©).([B) A (2) (C). D). ). (B)

(3) (). D). [B). A @  B). D). (©).A)

Freteriigs seeet (TS v 31.3.00. ) TEET i 924 5T 1 % FA H Wel A A futed

(A) 80486

(B) 8085
(©) 3« #1

(D) uf=mm - III
= fau U e 8 | H@E 3 W = e

1 @.(©).B), A 2) (0. D). (A). B
(3) (C). (D). (B), (A) 4 (B, (D). (C). (A

[Question ID = 2710][Question Description = Q32_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10837]
2. 2 [Option ID = 10838]
3. 3 [Option ID = 10839]
4. 4 [Option ID = 10840]

Correct Answer :-
e 1 [Option ID = 10837]

Given below are two statements :



Statement I: TSB drives are also known as flash drives.

Statement II : Device used by banks to automatically read those unusual numbers on the
bottom of cheques and deposit slips is known as MICR.

In the light of the above statements. choose the correct answer from the options given below:

(D Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false
(1) Statement I is false but Statement I is true

Fe g FE R g
FoF ([):  3.vE.sl. g5 Foi9 9159 = &9 0 Wi 9 91d £ |
Fod (I) : =% 3 T % AU H T SEEE G O TG 6 A S GRS T
TS HI AW, % =Y H ST S F
SR FYT o AATE 1, 49 50 70 fawen 8 | w8 I F w9 Fie
1 FRIsmOIAaE? |
(2)  FoF I3 I 3F 293 2 |
(3) =9 [9ea =, =ifa e I 5907 2 |
(4) = [ 55 7, itk e [LaeT 2 |
[Question ID = 2711][Question Description = Q33_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10841]
2. 2 [Option ID = 10842]

3. 3 [Option ID = 10843]
4. 4 [Option ID = 10844]

Correct Answer :-
e 1 [Option ID = 10841]

Which of the following are software?

(A) Adobe

(B) Web browszer
(C) Compiler

(D) Device Driver

Choose the correct statements from above :

(1) (A). (B) and (C) only (2) (B). (C) and (D) only
(3)  (A). (C) and (D) only (4) (A). (B) and (D) only

frafafaa 8 9 F9 gz 37
A UEm
B) = wEW

(C) FaIEEL
(D) fzam@ gE=w

= fou o forret 9 @ wE I == it
(1)  FAE (A). (B) #W (C) (2) 9 (B). (C) 5F (D)
(8) A (A). (C) ¥ (D) @) a9 (A). (B) 7 (D)
[Question ID = 2712][Question Description = Q34_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10845]
2. 2 [Option ID = 10846]

3. 3 [Option ID = 10847]
4. 4 [Option ID = 10848]

Correct Answer :-
e 1 [Option ID = 10845]

Match List I with List IT

ListI List IT
(Name of Company) (Founder)



(A) Apple Inc. () N.R. Narayana Murthy

(B) Microsoft Inc. (II) Steve Jobs
(C) Infosys Ltd. (III) Bill Gates
(D) Airtel (IV) Sunil Bharti Mittal

Choose the correct answer from the options given below :

(1)  A-aID. B)-IV), (C)-1D. (D)D)
@) A)-av), (B)-(ID). (C)-1I). (D)-(D)
(3)  A-0D. B)-IV), (O)-0). (D)-IIL)
4)  A-aD. B)-III). (O)-[D. (D)-IV)

T-1 = =1y g1 =1 e i

Gl .11
(A) T . @ T W A
(B) wEHETTR . ) a FisE
(C) T wifam fafres 1) &= 72
(D) TR AV) Te v o

Fi= fzu v famwet § @ wE S w1 959 Fia

(1) (A)-(I1D), (B)-(IV), (C)-(dI), (D)-(D

(3) (A)-(ID), (B)-(IV), (C)-(D. (D)-III)

(4) (A)-(ID), (B)-(IID), (C)-(D), (D)-(IV)
[Question ID = 2713][Question Description = Q35_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10849]
2. 2 [Option ID = 10850]

3. 3 [Option ID = 10851]
4. 4 [Option ID = 10852]

Correct Answer :-
e 1 [Option ID = 10849]

According to one of the Sustainable Development Goals, the per capita global food waste at
the retail and consumer levels 1s to be reduced to the extent of

(1)  1/2 (Halp (2)  1/3 (One third)
(3)  1/4 (One fourth) (4) 1/10 (One tenth)

et fam Tafgat § © v % YEN, WU A 9w T T Ui =i Afvas amen-sfee i
TIHT T TEE A

1 12 () 2 V3 (u= famm)
(3 /4 (vF =) 4 1/10 (v =)

[Question ID = 2714][Question Description = Q36_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10853]
2. 2 [Option ID = 10854]
3. 3 [Option ID = 10855]
4. 4 [Option ID = 10856]

Correct Answer :-
e 1 [Option ID = 10853]

32) According to WHO standards, the pesticide content (Lindane or DDT) in drinking water
should not exceed
()  1ugLt (2) 2pgLt
(3)  5pgLt (4) 10 pgLt

ferve T Ta % SR % e | FeEes # aen (oo SLEd) o wfeF T



(1) 1 pglt (2) 2 pgLt
(3) 5 uglt (4) 10 pgLt

[Question ID = 2715][Question Description = Q37_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10857]
2. 2 [Option ID = 10858]
3. 3 [Option ID = 10859]
4. 4 [Option ID = 10860]

Correct Answer :-
e 1 [Option ID = 10857]

33) Whach of the following Pollutants has the least residence time in atmosphere?
(1) Nitric Oxade (2) Nitrous Oxide
(3) Chloroflorocarbons (4) Methane
=1 O § =0 T5uF 1 9 § e i e 27
(1)  FsE® sAiaEEs (2) AT=zd wiEEES
(3)  wEIU-YA T (4) iem

[Question ID = 2716][Question Description = Q38_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10861]
2. 2 [Option ID = 10862]
3. 3 [Option ID = 10863]
4. 4 [Option ID = 10864]

Correct Answer :-
e 1 [Option ID = 10861]

34 ; :
) Noise levels (db) are referenced to the human hearing threshold at a frequency of
(1) 50 Hz (2) 100 H=z
(3) 1 KHz (4) 4 KHz

oFE T W o -gEn- s et g = (SE) W g fEw e s R

(1) 50Hz (2) 100 Hz
(3) 1Khz (4) 4 Khz

[Question ID = 2717][Question Description = Q39_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10865]
2. 2 [Option ID = 10866]
3. 3 [Option ID = 10867]
4. 4 [Option ID = 10868]

Correct Answer :-
e 1 [Option ID = 10865]

35
) International Solar Alliance Framework Agreement entered into force in the year
(1) 2015 (2) 2017
(3) 2016 (4 2018

SR | TEE9H A9 (S2HIAE T AeTEE Faa® THHe ) S 597

() 2015 (2) 2017
(3) 2016 (4) 2018

[Question ID = 2718][Question Description = Q40_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10869]
2. 2 [Option ID = 10870]
3. 3 [Option ID = 10871]
4. 4 [Option ID = 10872]

Correct Answer :-



e 1 [Option ID = 10869]

In Banabhatta's Kadambri. good education has been described as having knowledge of 64
Kalaa or arts. Among these 64 Kalaa, Which among the following subjects were included

(@] Only arts such as Singing and Painting
(2) Only arts and vocational courses
(3) Arts, vocational courses and Medicine

(1) Arts, vocational courses, Engineering, Medicine, Mathematic, Science and Many
other subjects.

sz 1 FEEd 6, IO e w avE 64 Fene W AW T kw9 A fen 2 3 64 Fwensd |
fr=aferfias o o %= afmfea 97

(1) Faet T A e S wee

(2) AR SEEIEF TEAEH AT FAE

(3) et SHEETEE TEAHH, A
(4) e, SAEETEE TEAEH, AT, AT, ToE-e, o S Y 1= T |

[Question ID = 2719][Question Description = Q41_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10873]
2. 2 [Option ID = 10874]
3. 3 [Option ID = 10875]
4. 4 [Option ID = 10876]

Correct Answer :-
e 1 [Option ID = 10873]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Doing Inter — disciplinary research is more challenging than that in within
any single discipline.

Reasons (R) : It is not possible to combine knowledge from two disciplines.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) 1s false but (R) 1s true

9 21 #u= fou o #  uw sATuEYE (Assertion A) % =9 § fofigd 2 & AT 3 % #0 (Reazon R) %
=0 H

AT (A) : s T oy = At S e 2, PR v e e % st R T oy
ﬁﬂ_ﬂq T
+07 (R) : = T | U {9 SAe g T R

YO FUA W AT A, A= A e el 8 | w3 W = i

(D (A) ¥ ®) 3 = 2 A0 (R). (A) F1 =78 = 2
(2 () ¥R R) 3 FA 7 A R), (A) F wE == w=_
(3) (AT ? = (R) 91077 7 |
4 (A 7= 2 =i (R) T3 7|
[Question ID = 2720][Question Description = Q42_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10877]
2. 2 [Option ID = 10878]

3. 3 [Option ID = 10879]
4. 4 [Option ID = 10880]

Correct Answer :-
e 1 [Option ID = 10877]



38 £ : :
) Empirical studies have shown that the women students are under represented in the

disciplines such as science, technology, engineering, and mathematics (STEM). Its possible
reasons could be

(A) Women students do not feel comfortable with STEM subjects.

(B) Women students cannot execel in STEM subjects

(C) Woment students lack in aptitude in STEM subjects

(D) Women students face threats due to negative stereotypes.

(E) Women students are not encouraged by the parents to join STEM disciplines.

Choose the correct answer from the options given below :
(1) (A). (C). (E) only (2) (B).(E)only

(3) (C). (D) only (4 (D). (E) only

AREEF ASEE 3 9 7 5 ateen fefd = fagm, g afenteeh s e (mmAim))
e faeE § w9 gidiged 7 | SH 5raTiEd wE T B

@) afeen-frmmim (va A dom.) fre & me s T e 2

(B) Afzen-famndtmr (vafigvm.) faua 4 som ueeie 98+ w7 |
(C)  wfee-famneffmn #1 (va#i3.un.) foawar o sfusta #1 99= 21

(D)  wiee-Tamnein Feneas Eleagdl & HI0 guiEa] = GEaT F4d 7 |

(E)  wfeen-famndimr =i 9% Aar-foar % grn (ve.d.2.um. ) f&ed 1 o4 % fon seaniza =481 B s
=
%

Fr= fou o et § 1 wE SR 9 Fife

(1)  F= (A), (©). (B) 2 T (B). (B)

(3  Fa= (C). (D) 4 4 (D). (E)
[Question ID = 2721][Question Description = Q43_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10881]
2. 2 [Option ID = 10882]

3. 3 [Option ID = 10883]
4. 4 [Option ID = 10884]

Correct Answer :-
e 1 [Option ID = 10881]

Given below are two statements :

Statement I: A hoshlistic and multi — disciplinary education aims to develop intellectual.

aesthetic. social. physical. emotional and moral capacities of students.
Statement II: In 215t Century persons require only intellectual capacity to be successful.

In the light of the above statements. choose the most appropriate answer from the options

given below:



(1) both otatement 1 and otatement 11 are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I is false but Statement II i1s true

e 7 o T M E

Fo (1) : T TN AW Ap-fawEE-fen #1 =y i % aifgw, #ied-uem, g i,

e (ID) : 217wl § =aia=i 1 9% 51 = [o10 e siiigh @aar = A==l 7l 7 |

I FA F ATEF 5, A B T fawe 4 9 ged 39T I F =9 Fifa
(1) FRIROATAE |

(2) o I 3R I 3H #5902 |

(3) w15 2, =i Fee 1L 58 2|

(4) =9 [5G 7, wifeT 5u 11509 2 |

[Question ID = 2722][Question Description = Q44_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10885]
2. 2 [Option ID = 10886]
3. 3 [Option ID = 10887]
4. 4 [Option ID = 10888]

Correct Answer :-
e 1 [Option ID = 10885]

Global Citizenship Education (GCED) aims at

(A) Making students to become members of U.N.O.

(B) Helping students to understand contemporary global challenges.
(©) Making students to become promoters of peaceful societies.

(D)  Making students eligible to join foreign services.

(E) Making students eligible to become diplomats.

Choose the correct answer from the options given below :

(1)  (A). (B) only (2) (B). (C)only

(3)  (C). (D) only 4 (D). (E) only

Afeen AT e (SHTL ) o=

(A)  foenforE =1 309,50, 1 9o o9 F o SEm e



(B)  Taidan =1 gramt dAfvas =Hie 0 gese 5 g H)

(C)  ferenfedat =t wnifaqul @ave =1 WedETHal a4 = o 49/ |
(D)  Feenfo=i =i fogw Taned § 99 F TR9 s

(B)  TEnfiEi =i a5+ 994 % 959 S9 7|

= fou o fEredl | ° gE 3 0 99 i
(1) ==« (A), (B) (2) F== (B). (C)

(3) = (C). (D) @ == (D). (E)

[Question ID = 2723][Question Description = Q45_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10889]
2. 2 [Option ID = 10890]
3. 3 [Option ID = 10891]
4. 4 [Option ID = 10892]

Correct Answer :-
e 1 [Option ID = 10889]

Topic:- GP_Set8_C

R Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which it 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice 1s not a matter of reasoning at all: it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine. it seems natural to protest rather than
reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented. and particularly if those who could have undertaken
preventive action had failed to try. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
injustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority. who are unsure of the grounds for action. or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing
reason into play in the diagnosis of justice and injustice. Over hundreds of years. writers on
justice in different parts of the world have attempted to provide the intellectual basis for
moving from a general sense of injustice to particular reasoned diagnosis of injustice.

What is central to the theory of justice?

(1) Reasoning on a subject (2) Difficult interpretations

3 Subjective engagement (4) Identification of an issue

=3 % firga 1 savasar =1 gay fHH 0F fasg F 96 0 0% F e H oF] FH 5 gEtad 76 F 2

Toroh fawg 9 o S0 faea oms 3 0 $9 T 95d Bied g0 2 | wH-F 7 gEn e e E
=P F T 1 fa faega 7w T w9 v 2 T S Tae F me-mg e A
w wE | TH w A w6 o A A o 2 s 3 for, s Em o 2 fi P sfiwor s
=1 foufa 8 =g awr s== * 96 A famnyEs ah-Taash e 6 Aue gEw Ay w7
TTE S S Al UF H=E F wEdl 2 I gEe Han R o g, 991 a9 w9 8 9 | o

= w r " . - - = e - e,

- &k e
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AT HT T 7 Hhd 7 AT AE T GeAA F29 ff 7 TFar 2 W Hig =@ 9 = % qhged Taed
T URER ¥8 FERIEFAS § A51, Siow SSEe a9 =" $ AanE 2vaE ¥ 7 O ¢ | e TEE E E
T ® st fi fufa 4 2 v o1 Aifa F omaw i e FH ¥ =g H 2| AE S fagem A
ATTFA H AR G S E F e dar fl g e 2 | dwsi a0 A fawa & A= g 4 = &
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= o THgd T g T 27

(1) Tl fawa = o1 4 @b (2) fafy= =mem
(3)  =afFate geraa (4) T = =1 aeeE

[Question ID = 2724][Question Description = Q46_GP_SET8_S1_Shift2]
1 [Option ID = 10893]
2 [Option ID = 10894]
3 [Option ID = 10895]
4 [Option ID = 10896]

A W N -

Correct Answer :-
e 1 [Option ID = 10893]

Read the passage and answer guestion

The need for a theory of justice relates to the discipline of engagement In reasoning about a
subject on which it is as eminent author Burke noted, very difficult to speak. It is sometimes
claimed that justice is not a matter of reasoning at all: it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine. it seems natural to protest rather than
reason elaborately about justice and injustice. And vet a calamity would be a case of injustice
only if it could have been prevented. and particularly if those who could have undertaken
preventive action had failed to try. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
injustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority. who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing
reason into play in the diagnosis of justice and injustice. Over hundreds of years. writers on
justice 1n different parts of the world have attempted to provide the intellectual basis for
moving from a general sense of injustice to particular reasoned diagnosis of injustice.

What is the simplistic view about justice?

(1) It is a matter of reasoning

(2) It is being appropriately made aware of injustice
(3) It is of very little significance

(4) It 1s a matter of protest

= = fag| F1 savasa 1 gad e vH 9= % 96 | 75 F SHEEE i @6 S § T6tad 59 ° 7
ok famm o ok 39 foam o 3 fi T FE 95d BieA 9aen B | wH-wd 1w e e e E e
=E F1 % A SerHa TE Al o Ghdl; 97 6 8 UF 2 T 39ged GaaA  AY-E S

wE ThE 7 | 76 &9 ° "= % o0 Ui0d BFT SEN 2 | 390 % {0, S 59 Uid 7 b e diwor e
#1 fufa @ =3 qu w=E F an 4 freanEs aF-faad w0 oo s T e w2
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[Question ID = 2725][Question Description = Q47_GP_SET8_S1_Shift2]
1 [Option ID = 10897]
2 [Option ID = 10898]
3 [Option ID = 10899]
4 [Option ID = 10900]

A wWw N =

Correct Answer :-
e 1 [Option ID = 10897]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which it is as eminent author Burke noted. very difficult to speak. It is sometimes
claimed that justice 1s not a matter of reasoning at all; it 1s one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine. it seems natural to protest rather than
reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented, and particularly if those who could have undertaken
preventive action had failed to try. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
injustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of thelr policies. The requirements of a theory of justice include bringing
reason into play in the diagnosis of justice and injustice. Over hundreds of years. writers on
justice in different parts of the world have attempted to provide the intellectual basis for
moving from a general sense of injustice to particular reasoned diagnosis of injustice.

In the case of a calamity. it should lead to a feeling of injustice when

(1) It 1s left unobserved
(2) It affects vulnerable people
(3) Concerned authorities did not make an attempt to prevent it

(4) Concerned authorities did not know how to prevent it
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[Question ID = 2726][Question Description = Q48_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10901]
2. 2 [Option ID = 10902]
3. 3 [Option ID = 10903]
4. 4 [Option ID = 10904]

Correct Answer :-
e 1 [Option ID = 10901]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement In reasoning about a
subject on which it is as eminent author Burke noted, very difficult to speak. It is sometimes
claimed that justice 1s not a matter of reasoning at all: it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine. it seems natural to protest rather than
reason elaborately about justice and injustice. And vet a calamity would be a case of injustice
only if it could have been prevented. and particularly if those who could have undertaken
preventive action had failed to try. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
injustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoldance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority. who are unsure of the grounds for action. or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing
reason into play in the diagnosis of justice and injustice. Over hundreds of years. writers on
justice in different parts of the world have attempted to provide the intellectual basis for
moving from a general sense of injustice to particular reasoned diagnosis of injustice.

Avoidance of reasoned justification can be sourced to
(1) Protectors seeking justice

(2) People unaffected by policy - decisions

(3) The public not interested in justice
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[Question ID = 2727][Question Description = Q49_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10905]
2. 2 [Option ID = 10906]
3. 3 [Option ID = 10907]
4. 4 [Option ID = 10908]

Correct Answer :-
e 1 [Option ID = 10905]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which it 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice 1s not a matter of reasoning at all: it is one of being appropriately
sensitive and having the right note for injustice. It 1s easy to be tempted to think along these
lines. When we find. for example, a raging femine. it seems natural to protest rather than
reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented, and particularly if those who could have undertaken
preventive action had failed to try. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
injustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority. who are unsure of the grounds for action. or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing
reason into play in the diagnosis of justice and injustice. Over hundreds of years. writers on
justice in different parts of the world have attempted to provide the intellectual basis for
moving from a general sense of injustice to particular reasoned diagnosis of injustice.

PR . SR, - RS S _ S ok ST SR - o FORINES (0 IR & SRR _ i SO CoiE, S LN



44 pfedl bdbddicl idsliviods WL LMoL Vel deaia LA dl LRIRAAL Y WL JuWobdbb doiid LALL

(1) A general sense of the 1ssues
(2) Empirical analysis of injustice

(3) Intellectual evaluations

(4) Historieal traditions
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[Question ID = 2728][Question Description = Q50_GP_SET8_S1_Shift2]
1 [Option ID = 10909]
2 [Option ID = 10910]
3 [Option ID = 10911]
4 [Option ID = 10912]
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Correct Answer :-
e 1 [Option ID = 10909]





